»108904-

J-ROBOT"

= ASE Cojo|e AlAE
HIE Cajo|e AJAE

B¥ly alolz= SR / BVl mloles 8EF &

JN (F)¥<2m| 0]

QIMAAHA AT SFES 810-11 (T) 032-683-6200
JUNGWOO CORPORATION  www.jwcorporation.kr  Email: biz@jwfnb.co.kr

oomonnr

FlolkRESR(E) IMr

JINC

JUNGWOO CORPORATION




BN INDEX

INDEX .

HZL7H  4p

JZIEE YE =2l0|H A[AR 97p




J-ROBOT 2

£ HEOR 7480 R el ofFA0Il XBsi=
2o & ASRe} ME Sajols HES SHEEH0 BHEOE ARSI
[a101 2171 48 4 QU Zbll0f O'Aucr 3t 10| R7ASo)

SotH Ofet 01Z2|AH|0 M0 CHaM= = FHE S5t £

J-ROBOT 2| £

’§01IA1 o2 iof—ri Ef°*°’.’_* 01Z22/70|4 thS0| 7HSELICL.
ARl 27101 %= HME A= 7ESEUC

-

J-ROBOT 9| &H

= S2lols AAG0] o0t ey 8 I8 2% 24

0X 0x
B i
gon

£l
oz
o
5

b

0z

J-ROBOT M=Z2| &7 H 4

= A3= calolg
AAE

HE Calole
NAEH

Cl= 22 E2lojle
AlAE

2% QIZE 2R AAH 3= QEE 2R AlAY

MXFE 28 AAE) 3= UELD 2R AlAH




2 AJ5 C2lo|E AJAHI9| L{H X

oEEAe C& = 002vm P& £ 0.01 mm

ATF HAUT CZ @16mmC7  PZ @16mm C5

51 ZHE Ma214Nm Mb202Nm Mc 426 Nm

MlA ®-LS @HOME ® +LS

712 AEE3 Zo| 500 mm <
7|2 A U2 0| S, dHAZE

MR He ZHE 0,05 mmO[5t P 0.02 mm 0[5t

etaxH 0~40°C 85% &=

2E Z2 2R MM 12~24 V NPN&

@ LS 2|0|EMIM

~ s P
¥ v o @ HOME
PL PME PR PCE @ +LS 2|0[ENA




mm HESF

2 AJR C2l0[E A[AH E JRUEE & AR C2l0|H A|AH
JHC TYPE JFC TYPE
A8 | TYPE
AMol= Simm g | Tvee | Aol= 51mm
HtE2dale +0.02mm JFC50 ) HtEdale +0.02mm
A[HAEZ3I 800mm A[HAEZ3 800mm A / p ) /s
B RS 10kg Ei RS 10kg / &7 ¥/ 7 I
Az 500mm/s WEE E[a BN 500mm/s ¥ 4 ¢ % 4
JHC50.65 JHC50.65 JHC100 JHC110 JHC135 JHC175
28 | TYPE
o
A|’0|5 65mm - *|’0|5 65mm % A% EEI'OIE Alﬁﬂl
HiEMale +0.02mm JFCGS . HEMale +0.02mm
ZtAE2S - 800mm . ZAE2S - 800mm =1 JHC50 JHC65 JHC100 JHC110 JHC135 JHC175
e 30kg ; e 30kg
Aas 500mm/s ey ¢ b EIEN 500mm/s DEE2HW) 100 100 200 200 400 750
HH=2X431 & (mm) +£0.02 +0.02 +0.02 +0.02 +£0.02 +£0.02
pN = v A5 T Tvee 2|=(mm) 2/5/10 5/10 5/10/16 5/10/16 5/10/16 5/10/16
‘o ‘o
JHC100 :toilimE 133”&2 JEC100 ﬁgi o E’grg;“ Z| &= (mm/sec) 100/250/500 250/500 250/500/800 250/500/800 250/500/800 250/500/1000
HEHE +0.02mm HEHE +0.02mm
ZHAERS  1050mm ZHAERS  1050mm ATt ES] 10/10/5 25/15 50/30/22 65/45/25 85/70/44 130/110/95
i 50kg EIIEIES 50kg = e "
X
HAT  1000mms HAT  1000mms (kg) AX| 9/3/1.5 10/5 12/8/5 15/10/5 25/18/7 70/45/34
HZE R2AEZ3(mm) 50 ~ 800 100 ~ 500 100 ~ 1000 100 ~ 1000 100 ~ 1000 100 ~ 1500
A& | TYPE A" | TYPE
| A8 [ Tvee | golx 1o | A8 [ Tvee | Nolx tiomm
JHC110 ) HiEMAlE  +0.02mm JFC110 'f_rg’g?g'i +0.02mm
# ZAEZS  1050mm ZAEZS  1050mm
ES WP 70kg EIS S 60kg
ES[ B 1000mm/s ES[uES 1000mm/s
A5 A5l
TYPE TYPE
£ | Tvee | JUES 135mm 28 | 7vee | JUNES 135mm
JHC135 HRgI=  £0.02mm JFC135 HEFI=  £0.02mm JFC50.65 JFC50.65 JFC100 JFC135 JFC175
ZIAEZS  1050mm EHAEZS  1050mm
NS 110kg G 110kg
@ Ak 000mms @ Bl 1000mms 3RS B A3= calo|s AA
= JFC50 JFC65 JFC100 JFC110 JFC135 JFC175
A9 A9
TYPE Ao 170mm TYPE Aol = 175mm ZEIEZW) 100 100 200 200 400 750
JHC175 l‘f—rgg%E +0.02mm JFC175 If_tg?ggg +0.02mm HHEE M & (mm) £0.02 +£0.02 +0.02 +0.02 +0.02 +0.02
ZHAEZT  1250mm ZHAEZF  1250mm
ES (W 120kg ZH5E 120kg 2|=(mm) 2/5/10 5/10 5/10/16 5/10/16 5/10/16 5/10/16
BHE o B B E o B 20001 -
o |ch 2000mm/s Ich mm/s Z|CH4 = (mm/sec) 100/250/500 250/500 260/500/800 250/500/800 260/500/800 250/500/1000
A | T8 10/10/5 25/15 50/30/22 65/45/25 85/70/44 130/110/95
X 9/3/1.5 10/5 12/8/5 15/10/5 25/18/7 70/45/34
Z SSAEZ I (mm 50 ~ 800 100 ~ 500 100 ~ 1000 100 ~ 1000 100 ~ 1000 100 ~ 1500




C2lo|e AJAHIO| LR X

oEEdUE Cg +002nvm P& £ 001 mm

A32 MU CZ @16mm C7  PZ @16mm C5

512 mue Ma 214 Nm  Mb202Nm Mc 426 Nm

MIA ®-LS @HOME @ +LS 4
712 AE23 20| 500 mm -
7| U20)s 33, WAL e
AXH HE HHE 005 mmolst  PZ 0.02 mm 0|5t

SAX 0~40°C 85% BE

DE| S 93]

- - -5 /f
7 & & ¢

PRE PLE  PUH PME
& W
L2g R2d RE:} R

[ M 12~24 VNPNE

@ -LS 2|0|EMA
22 " @ HOME

HOME

®-Ls @ +LS 2|0|EMIM

3
Im
rx
12

Q®

i,

PURIZ B8R
X
=

0[0)




012

n JEISL HWE Cajlo|E A|AH!
JFB TYPE
A3 | TYPE |
JUIES 51mm = JUES Simm
HEEMIE  +0,08mm HEElMAUE +0.08mm
ZHAEZ3  800mm AHAEEST  800mm
EH51E 10kg 10kg
500mm/s 500mm/s
JHB50.65 JHB50.65 JHB110 JHB135 JHB175
A3
65mm 65mm HIE Cajoe AJAE]
=2 — — NMN=o
+0.08mm +0.08mm
gg(k’mm gg‘k)mm T2 JHB50 \ JHB65 JHB100 JHB110 JHB135 JHB175
9 g
500mm/s 500mm/s DE22HW) 100 100 200 200 400 600
HHE=2491 & (mm) +0.08 +0.08 +£0.08 +0.08 +£0.08 +£0.08
— [y
P EI_(mm) 40 40 32 40 40 40
102mm 108mm .’:SIEHAE(
2= (mm/sec) 2000 2000 1600 1800 1800 2000
+0.08mm JFB100 +0.08mm
1050mm 1050mm 7SS 2 3 3 15 30 30 45
50kg 50kg (ka) AX|
1000mm/s 1000mm/s LR
HE Q8 AEZT(mm) 100 ~800 100 ~800 100 ~ 2550 100 ~ 3000 100 ~ 3000 100 ~ 4050
110mm 110mm
JHB110 +0.08mm JFB110 +0,08mm y
1050mm 1050mm
70kg 60kg
1000mm/s 1000mm/s
A8 | TYPE A8 | TYPE & ~ 4
135mm 135mm v v .’ N
JHB135 +0.08mm JFB135 +0.08mm JHB50.65 JHB50.65 JHB100 JHB110 JHB175
1050mm 1050mm
110kg 110kg
1000mm/s 1000mm/s aah'ao HE“E EEI‘0|E Alﬁﬂ
= JHB50 JHB65 JHB100 JHB110 JHB135 JHB175
| A8 | TYPE | | A3 | TvPE |
= 170mm = 175mm 2EE2HW) 100 100 200 200 400 600
JHB175 +0.08mm JFB175 £0.08mm HH= M = (mm) £0.08 +0.08 £0.08 £0.08 £0.08 +0.08
1250mm 1250mm
% 120kg 120kg 2|=(mm) 40 40 32 40 40 40
2000mm/s SHE 2000mm/s Z
2|t = (mm/sec) 2000 2000 1600 1800 1800 2000
A
A7l B 3 3 15 30 30 45
ko) 4
Z G AEZT(mm) 100 ~800 100 ~800 100 ~ 2550 100 ~ 3000 100 ~ 3000 100 ~ 4050




JHC Al2|=

2 A3JE2 cajlo|H A|AEH
Standard / Ball Screw :

HZ Al2l=

| AHTYPE | ~ | EEHTYPE
JHC50 - JHC110

EEE 5 E eamag o M= ti0mm
VEES ETE yiAE23800mm /P18 ZJAEZ3 1050mm /P 30
e g 553 S0kg

| AHTYPE | ELC

JHCB5 JHC135

fram ALO|= 65mm o ALo|= 135mm
VRS LR e B ZfAE23 800mm /P22 i E ZHAEZ3 1050mm /P 34
Z|chstE 30kg Z|cistE 95kg

EXH TYPE IH& TYPE

k / JHC100 - JHC175 T /

NS 102mm — Afo|= 170mm
ZHAEZT 1050mm /P 26 i= 12 ZHAEZ3T 1250mm /P 38
FCi5kE  50kg AHOisE  120kg

RER  KEE

014




JHC-2 A8 E2j0|E AJAH AJLE

A32 J7(C7)

HZE AEZT(mm)

E|Ci7 125 (kg) EHAE X

ZEBE AO|= HiENas
W  (mm) (mm 9F(mm)  BEmm)  4H A% (mm/s)
JHC50 10 5 1.5 500
2 30 15 100
JHC65 10 15 5 500
5 50 12 250
10 30 8 500
16 22 5 800
JHC100 20 18 3 1000
5 50 12 250
10 30 8 500
16 22 5 800
JHC110
20 18 3 1000
5 95 27 250
10 75 18 500
200W 135 +£0.01 16
16 44 7 800
5 95 27 250
JHC135 10 75 18 500
400W 135 +£0.01 16
16 44 7 800
20 35 6 1000
5 120 40 250
10 110 30 500
400W 170 £0.01 20
20 75 14 1000
5 120 40 250
JHCI75 10 110 30 500
750W 170 £0.01 20 20 25 14 1000
40 35 7 2000

M1 zZlti& == 2E] A/THSR4 3,000 RPM 71E

016




"HEEE

ZEIEHACW) 100

HH=431 = (mm) +0.02

AFENUC crg

2|=(mm) 2 5 10

Z|CHA = (mm/sec) 100 250 500

At | T8 10 10 5
(ko) 2] 7 3 15

=2(N) 986 330 165

AEZ5(mm) 100~800 (50H%)

37|(mm) 51x54

90°

EH(mm) H2(mm) Elmm)  SEALEAI
e 0° | o0° =0 0 | 90° Ax| 0° | 90° MY 16(N)
N R N - - - 20(N
Z|Ch L= == fi= 3:? 4(? o 4o1mm m; 19§N;
[ N=r=—| 800mm 8 B 500m/s EISEEE 100W S EESEZN 012mm - - - 4-k - 107- g | Omm | Omm
2lss5 471::9 >15mm 16325mm 2lss5 7kg ::ggmm - MM 3c5 | 3kg | 56mm | 57mm
g |340mm mm g mm mm
3kg |433mm|180mm 3kg [376mm|149mm
= 2|E 2= 1.5kg |[125mm|125mm
2l=10 5kg |223mm| 75mm =10 5kg [148mm| 50mm =10 9

PDE PLES PR PME]

| BN AEES SER SETIZAL M ZEEY MIMSIR]

02 2mm 100 ~800mm PD| %A 29| At 10 | 100W 29| At
05 5mm 50mm £t PL| z= 20 -
10 10mm PR | 2= 40 _
PM | slct 75| -

018




PD (=eizi#

L

£H2l(mm)

PR (592)

120 ) RRAEZF 67
55 2-253x6 H7 ‘ T 21,0
g4 A
@ ol L%‘ ®
o ° mRols °
18:0.02 | ‘ | 4-Max11
34
44
— S o
LI_lI F Gl
[
089 o o+ o o 4 4 e e e»g
[fe)
R o o
N-M5x8.5 s
67 M*40 AA CHH
FRAE 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 237 287 337 387 437 487 537 587 637 687 737 787 837 887 937 987
A 50 60 30 40 50 30 40 50 30 40 50 30 40 50 30 40
M 2 6 7 8 9 11 12 13 14 16 17 18 19 21 22
N 3 9 10 12 13 14 15 17 18 19 20 22 23
KG 2.1 2.2 2.3 2.4 2.5 2.7 2.8 2.8 3 3.1 3.2 3.3 3.4 3.5 3.6 3.7
_ =+2{(mm)
PL #=&92)
L
127 SEAERT 67
75
34 20+ 1
601 ‘ T [1840.02 o gaye 1
AR A
= To 8o o]
® ®
5|9 [ .
= 4-Mdx11
a4
= ’
g —
— = ‘ . b 3
= 9
) |2
N-MB5x8.5 54 | o1
e, - - - - - - 7 - - 9 P
o L
‘ B = AAEHE
75 M*40
[SEAEZST (510] 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 245 295 345 395 445 495 545 595 645 695 745 795 845 895 945 995
A 50 60 30 40 50 30 40 50 30 40 50 30 40 50 30 40
M 3 4 6 7 8 9 11 12 13 14 16 17 18 19 21 22
N 4 5 7 9 10 12 13 14 15 17 18 19 20 22 23
KG 2.1 2.2 2.3 2.4 2.5 2.7 2.8 2.8 3 3.1 3.2 3.3 3.4 3.5 3.6 3.7

(02240)

SH2l(mm)
L
130 REAERS 67
601 O 3
Wl a4
C17118+0.02
— 2-@13x6 H7 | 2081
® —
o [fe]
e
I ; 1 =
:!\_u’l: = 3
|24
75 M*40 A 51 | 54
B B Ao M ©
[ee]
e ° o o o o [ gﬂ J}m
A AA THH
N-M5x8.5
fBAE 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 245 295 345 395 445 495 545 595 645 695 745 795 845 895 945 995
A 50 60 30 40 50 30 40 50 30 40 50 30 40 50 30 40
M 4 6 7 8 9 11 12 13 14 16 17 18 19 21 22
N 5 7 8 9 10 12 13 14 15 17 18 19 20 22 23
KG 2.1 2.2 2.3 2.4 2.5 2.7 2.8 2.8 3 3.1 3.2 3.3 3.4 3.5 3.6 3.7
PVl (sttei2) el
L
127 REAERT . 67
75
34 201
601 ~T7 18x0.02 :
e 2-23x6 H7 by
fo H81o o
|y ef| 0
S [ [ O
4-Max11
44
_ =1 o )
| <
[: D ol ©
|
HE
1-axis
5 o 5 o o / o o gﬂ JH
— ==
115 M*40 A JHCGS
[SEAERS ) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 245 295 345 395 445 495 545 595 645 695 745 795 845 895 945 995
A 50 60 30 40 50 30 40 50 30 40 50 30 40 50 30 40
HC17
M 3 4 6 7 8 9 11 12 13 14 16 17 18 19 21 22
N 4 5 8 10 12 13 14 15 17 18 19 20 22 23
KG 2.1 2.2 2.3 2.4 2.5 2.7 2.8 2.8 3 3.1 3.2 3.3 3.4 3.5 3.6 3.7




| Rl

2HEZACW) 100
HHE 2 = (mm) *0.02
AIFHUC cre
2|=(mm) 2 5 10
Z|CHE E(mm/sec) 100 250 500
AT
s | TS %0 30 1
(ka) 4% 15 10 5
=2(\) 854 341 170
AEZ 3 (mm) 100~800(50EH)
37|(mm) 65x54
W 51515/ 2HE
90°
£42l(mm) £42(mm) EhRl(mm)  SEARSAI
e 0° | 90° e 00 | 90° 2| 0° | 90° MY 70(N)
10kg [374mm|109mm 5kg [530mm|204mm 2kg [171mm|{172mm MP 80(N)
2|E5 | 30kg [159mm| 25mm 2|=5 | 10kg |245mm| 72mm 2|E5 | 4kg |73mm | 74mm MR 75(N)
- b - 30kg 0 0 10kg | 23mm | 26mm
3kg [624mm|335mm 3kg [510mm|293mm 1kg [355mm|352mm
/\ 2|£10 8kg [273mm|121mm 2l=i0 8kg [210mm| 89mm 2|=10 2kg |165mm|165mm
15kg |216mm| 77mm 15kg [130mm| 43mm 5kg |[70mm | 72mm

PDS PLS! PR PME

mEEIc

JHC65 - 10 - 100 -PC-P - 10 - B-C5

N=dH
|  EN=EEl= AEZT DEQR| SE{R|ZA} HEEE% IS
02 2mm 100~800mm PD | 24 29| At 10 | 100W 20| Atk
05 5mm 50mm £t PL |Zl= 20| 200w
10 10mm PR |2& 40 -
PM | SiEt 75| -

0274




PD (2EzZ) E4/(mm)
L
125 REAEZT ) 75
181
491 ) 30+0.02  2-@3x6 H7 ’L
iLA%J 4-M5x12
= T ]
o © ®
: [oele o[2]
78.4 44
50 60
34
ﬁ 110
@ o — q Il 1l n
> 5 :‘ Q::LE < 2 O‘
42
65 _2-M4x12 84 M*40 A ‘
n i j
| @ o
{ ﬁ; \\ 1‘ N ©
i N-4.50rM5 LR
REAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 327 | 377 427 477 527 577 627 677 727 777 827 877 927 977 | 1027
A 43 53 63 33 43 53 63 33 43 53 63 33 43 53 63
M 5 6 7 9 10 11 12 14 15 16 17 19 20 21 22
N 12 14 16 20 22 24 26 30 32 34 36 40 42 44 46
KG 2.7 2.8 3 3.2 3.4 3.6 3.7 3.9 4.1 4.3 4.4 4.6 4.8 5 5.1
PL (z5%Z) E#i(mm)
L
145 RRAERS 75
110
ﬁ 42.8+1
| 2-@3x6 H7
;W e—
ol of70
Wk ®
2 t [5ole o] =
4-M5x12 78.4
30.09+0.02 50
34
5248+ 1 "‘"
= 0 [le)
M*40 A B
42
N-4.50rM5 23 65
; 7
MoQ
[@o0C / @
[
T R
[SEAEZT 100 150 200 250 300 350 400 450 500 550 (5]0]0) 650 700 750 800
L 334 | 384 434 484 534 584 634 684 734 784 834 884 934 984 | 1034
A 43 53 63 33 43 53 63 33 43 53 63 33 43 53 63
M 5 6 7 9 10 11 12 14 15 16 17 19 20 21 22
N 12 14 16 20 22 24 26 30 32 34 36 40 42 44 46
KG 2.7 2.8 3 3.2 3.4 3.6 3.7 3.9 4.1 4.3 4.4 4.6 4.8 5 5.1

024

PR (95

re
m

SH2l(mm)
L
145 [FRAEZF 75
_30+0.02
2-23x6 H7 1841
4-Mbx12
o
= Ei C=fo o
® ®
T 68.8
44 50
56+ 1 -~ 1
110
o i T o
LILE EE = e
102 M*40 A ‘30”
N-4.50rM5 ‘ .ﬂj
LA b 65
= = sl
V\‘

FRAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 334 384 434 484 534 584 634 684 734 784 834 884 934 984 | 1034
A 43 53 63 33 43 53 63 33 43 53 63 33 43 53 63
M 5 6 7 9 10 11 12 14 15 16 17 19 20 21 22
N 12 14 16 20 22 24 26 30 32 34 36 40 42 44 46
KG 2.7 2.8 3 3.2 3.4 3.6 3.7 3.9 4.1 4.3 4.4 4.6 4.8 5 5.1

PIVI (sl2t1z) =)
L
145 [FRAEZT ‘ 75
6341 30+0.02 o 226 H7
" " 4-Mbx12 IR Y
[ENe o ——p
® &9 @®
: :
ooo oo T
BER
44 78.4
60 50
110 ﬁ“
|
o = j%ﬁ j\f = E g
8
142,0 ‘ M*40 A
N-4.50rM5 ‘
L ‘
T |
Z 1] 8|8
7 I
4 |

REAERS 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 334 384 434 484 534 584 634 684 734 784 834 884 934 984 | 1034
A 43 53 63 33 43 53 63 33 43 53 63 33 43 53 3
M 4 5 6 8 9 10 11 13 14 15 16 18 19 20 21
N 10 12 14 18 20 22 24 28 30 32 34 38 40 42 44

KG 2.7 2.8 3 3.2 3.4 3.6 3.7 3.9 4.1 4.3 4.4 4.6 4.8 5 5.1

02

r
i

1
JH

JHC50

o
p=$
@

JHC65

JHC100

JHC110

JHC135

JHC175

5



EEEE

ZEEHACW) 100
HH2 2 = (mm) %0.02
AFEXMOIC Cra
2/=(mm) 5 10 16 20
Z|CH& = (mm/sec) 250 500 800 1000
- _ ATH
A EE T 50 30 22 18
(ka) ESN 12 8 5 3
Z=2(N) 341 170 106 85
AE23(mm) 100 ~1050 (50t9))
37|(mm) 102x66
B 5iE615/ZHE
90°
-
42 (mm) £H2{(mm) EHR|(mm)  SHARBAI
=4 0° 90° =M 0° 90° +&| 0° 90° MY 150(N)
30kg |420mm | 25mm 10kg | 105mm| 50mm 5kg | 100mm | 145mm MP 150(N)
S 2|=5 | 50kg | Omm | Omm  2|E5 | 20kg | 20mm | Omm  2/E5 | 10kg | 50mm | 90mm MR 130(N)
2|C ) - B B k - B 12kg | 20 90
1050mm 1000mm/s =112 100w DS =R o16mm 30kg 9 | 20mm | 90mm
( j( ek s 15kg | 390mm | 80mm 10kg | 100mm| 50mm 4kg | 335mm | 375mm
2|210 | 25kg |185mm| 25mm  2|/=10 | 20kg | 20mm | Omm 2|210 | 6kg |140mm| 180mm
30kg 30kg 8kg |100mm | 140mm
5kg | 930mm | 250mm 5kg | 115mm| 55mm 1kg |620mm | 620mm
2|=16 | 10kg |480mm|115mm 2|=16 | 10kg | 25mm | Omm 2|E16 2kg |680mm | 680mm
22kg |235mm | 40mm 22kg | Omm | 40mm 5kg |310mm | 350mm
5kg | 940mm | 260mm 5kg | 250mm| 210mm 1kg |580mm | 580mm
2|=20 | 10kg |490mm | 120mm g|=20 | 10kg | 95mm | 45mm  2|=20 | 2kg |640mm | 640mm
15kg | 240mm| 45mm 15kg | 25mm | Omm 3kg |310mm | 350mm

PCY PDY PLY PR

m ZETc

JHC100 - 10 - 100-PC- P - 10-B - C5

HZ
[ EEEE]= AERT ZE{R| M ZERIZAL ZESY MM
05 [ 5mm 100~1050mm PC | WH 20| At 10| - 0| Atst
10 10mm 50mm £t PD | 2 ? 200W
16 | 16mm PL | & 40/ 00w
20 20mm ;-?—éi TSW

026




PC (2EE) =H2{(mm)
L
260 EES=EE] 95
S 8
N +28.61 %5Ef=
108 4-M5x10
- X
87 W o s
o Fo b [ = ==
@ 3 i
102
165 M*200 A 60
P N-M5x9 B |
44 y{ 44 44
i
— b— oo #; W/
N-g5.5 N=M5
175 M*200 13040 50
[EAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 475 | 525 | 575 | 625 | 675 | 725 | 775 | 825 | 875 | 925 | 975 |1025(1075(1125|1175(1225(1275|1325[1375[1425
A 200 | 50 [100 | 150 | 200| 50 | 100 | 150 | 200| 50 | 100 | 150 | 200 | 50 | 100 | 150|200 | 50 | 100 | 150
M 1 2| 2] 2 3 3| 3| 3 4| 4 4| 4| 5| 5| 5| 5| 6|6 |6
N 6 8 | 8 | 8 | 10| 10| 10| 10| 12|12 ] 12] 12|14 |14 |14 |14 |16 | 16 | 16
KG 6.6 74|88|82(86| 9 |94]97[10.1/10.5[10.9[11.3/11.7[12.1[12.4|12.8/13.2(13.6| 14
PD (=E{%Z) H2{(mm)
L
135 PEI=EE] 95
BT | §
105 74
87 MORON(115.5) 90
I\ u Y i
108 M#200 A 60
N-M5x9
4 / ey +
fimm )
4&/} 44 $
N=g5.5
118 M*200 A 50

150 200 250 550 600 650 700 750 800 850 900 950 1000
L 368|418 | 468 | 518 | 568 | 618 | 668 | 718 | 768 | 818 | 868 | 918 | 968 |1018]1068|1118|1168[1218[1268[1318
A 200| 50 | 100 | 150 | 200| 50 | 100 | 150 | 200| 50 | 100 | 150 | 200 | 50 | 100 | 150|200 | 50 |100 | 150
M 0 1 1] 1 2 | 2223|333 ]ala|a|als|5]s
N 4 6 | 6 |6 | 8 |8 |8 |8 101010101212 ]12]12]14 [14]14
KG 66| 7 | 74|88 |82|86| 9 |94]97|10.1/10.5|10.9]11.3/11.7[12.1|12.4|12.8[/13.2|13.6| 14

028

PL(z5212) E#(mm)
L
15090 SBAEZT 95
7%
4-Mbx15
.
©
%2—®5X12H7
105
4-M5x10 F“gz“’
%j ﬁo o[ j% 8
A 60 102
73.5
N-M5x9
~ 7 °
o |00
|~
5
? o9 o9
59 M*200 A 50
SEAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 360|410 | 460 | 510|660 | 610 | 660| 710 | 760| 810 | 860|910 | 960 1010 [1060[1110|1160[1210[1260[1310
A 200| 50 | 100 | 150 | 200| 50 | 100 | 150 | 200| 50 | 100|150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
M o] 1] 11 221213333 alalalals ][5 ]s
N 4 6 | 6 | 6 8 | 8 | 8 |10 |10 |10 |10 |12 |12 | 12 |12 |14 |14 | 14
KG 6.6 74|88|82]86] 9 [94]97][101]105[109]11.3[11.7]12.1]12.4]12.8[13.2]13.6] 14
P R (ofﬁ:'a’) F_f%’—l(mm)
L
150 SEAEZRT 95
o]
~
74 2-@5x12 H7
1 15?75
50 4-M5x10
[e%) ) Q
4 p == == 4% —Cp
! =1 :
102 73.5
49 M*200 A 60
N_5.5
B s |
S /fo s
| l_x
'039 W—a;?_s
pY JH
A 50
SEAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 360|410 | 460 | 510|560 | 610 | 660| 710 | 760| 810 | 860 910 | 960 [1010 |1060[1110|1160[1210[1260|1310
A 200| 50 | 100|150 | 200| 50 | 100 | 150 | 200| 50 | 100|150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
M01111222233334444555
N 4 6 | 6 | 6 8 | 8 | 8 |10 |10 |10 |10 |12 12 |12 12 [14 |14 [1a
KG 6.6 74]88]82]86]| 9 |94]97][101]108][109]11.3[11.7]12.1]12.4]12.8[13.2[136] 14

02

9




=2 X|74
T

¢16mmj

PRE

m F2ac

JHC110 - 10 - 100-PC-P - 10-B - C5

N=dH
| Bl AEZF M ZE2QIX| DE{X| XA} DE 22 IISESIN
05 5mm 100~1050mm PC L% 20| Atet 10| - 20| Atk
10 | 10mm 50mm £t PD | X/& 20| 200W
16 | 16mm PL | ZESH 40| 400W
2 20 ~lozom o E—
0| 20mm PR | 25992 75| 750W

030

m 7=

ZEEHACW) 200
HHEE M & (mm) +0.02
AFEXMOIC Cra
2|=(mm) 5 10 16 20
Z|tH& = (mm/sec) 250 500 800 1000
- _ ATH
A|CH7 eSS ) 70 47 30 24
(ka) BN 17 12 6 4
Z=2(N) 683 341 213 174
AEZ 3 (mm) 100~1050 (50%H2)
37|(mm) 110x75.5
M 5155/ HE
90° My
0 90° Mp
EHl(mm) £t2l(mm) Elmm) SEAREA|
+4 0° 90° =H 0° 90° 23| 0° 90° MY 174(N)
40kg 2448mm|322mm 40kg |1394mm|204mm 5kg |762mm|614mm MP 175(N)
2|E5 | 55kg 2197mm[257mm  2|E5 | 55kg [1115mm|130mm  2|=5 | 10kg [607mm|489mm MR 153(N)
70kg [2005mm|219mm 70kg |895mm| 85mm 12kg [498mm|493mm
25kg [1958mm|490mm 25kg [1277mm|414mm 4kg [1365mm|1101mm
2|E10 | 35kg [1660mm|333mm  2|=10 | 35kg |929mm|235mm  2|=10 | 6kg [901mm|727mm
47kg [1725mm243mm 47kg [751mm|129mm 8kg |674mm|543mm
10kg [1800mm|800mm 10kg |1410mm|461mm 1kg [067mm[1217mm
2|E16 | 20kg 1100mm|450mm  2|=16 | 20kg |[1027mm|264mm  2|=16 | 2kg |997mm [805mm
30kg [1047mm|324mm 30kg |832mm|148mm 6kg |747mm |603mm
5kg [2105mm|960mm 5kg [1560mm|1041mm 1kg [580mm | 580mm
2|E20 | 15kg [1170mm[420mm  2|=20 | 15kg [770mm|400mm 2|=20 | 2kg [1155mm{1155mm
24kg |[1300mm|305mm 24kg |685mm|220mm 4kg [1130mm| 885mm




PC (2E{LhE)

110

1

270 SSAERT 100
2-@5x12 H7 4-MB5x15
I —-t
) )
(-] (-]
CcE—— =
12.5 F_TSO 4-M5x10

£H2l(mm)

150 200 800 850 900 950 1000 1050
L 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 (1040 |1090|1140|1190|1240|1290(1340(1390 (1440
A 200| 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200| 50 | 100|150 | 200 | 50 | 100 | 150|200 | 50 | 100 | 150
M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5
N 6 8 8 8 10 | 10 10 | 10 12 12 12 12 14 | 14 14 14 16 16 16
KG 6.6 7.4 188 |82 86 9 9.419.7110.1/10.5(10.9| 11.3|11.712.1]12.4|12.8/13.2|13.6 | 14
PD (2E1zig) £H2{(mm)
L
138 SEAEZS 100
2-5x12 H7
o )
o
- °
Reacd =
90 4-M5x15
110
/ 1
2 =Lt
44 M*200 A 60
’:-Fb&_ ‘ =R
£ /a o+
N-265 N=M5x8.5
++ o o+
54 ‘ M*200 ‘ A ‘50
FRAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 354 | 404 | 454 | 504 | 554 | 604 | 654 | 704 | 754 | 804 | 854 | 904 | 954 |1004|1054|1104|1154|1204|1254 1304
A 200 | 50 | 100 | 150 | 200| 50 | 100 | 150 | 200| 50 | 100|150 | 200 | 50 | 100 | 160 | 200 | 50 | 100 | 150
M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5
N 4 6 6 6 6 8 8 8 8 10 10 10 10 12 |12 12 12 14 14 14
KG 6.6 7 7.4 188 |82 8.6 9 9.4 9.7 |10.1]10.5{10.9| 11.3/11.7(12.1|12.4|12.8/13.2|13.6 | 14

032

PL (@&12) E#imm)
L
7 SEAEET 700
2-@5x12 H7 f‘w
* Ao
4-MBx15
4-M5x10 10
=X 90
i 2
1l fﬂjﬁ
755 110
80 M*200 A 60
g% Bz N-M5x8. 5
- o
9 M*200 | A  Is0
FRAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 375|425 475|525 | 575|625 | 675|725 | 775|825 | 875|925 975 [1025|1075|1125(1175|1225|1275|1325
A 200 | 50 |[100 | 150 | 200| 50 | 100 | 150 | 200| 50 | 100|150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
M 0 1 1 1 1 2 2 2 3 3 3 3 4 4 4 4 5 5 5
N 4 6 6 6 6 8 8 8 10 10 10 10 12 |12 12 12 14 14 14
KG 6.6 7 7.4 188 |82 8.6 9 9.4 1 9.7 [10.1]10.5[10.9| 11.3|11.7|12.1|12.4|12.8/13.2|13.6 | 14
PR (O’:TE’E’) F_f%’—l(mm)
L
150 SEAEZT 700
£ == EX;
- ° =) g
]
==r3
e =l
90 4-M5x15
110
90 M*200 A 50
| -
//'o o
8 N=05:5 N=M5x8.5
0/ &4
—-; 80 Q M*200 A 60
FRAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 375 |425 | 475 | 525 |575 | 625 | 675|725 | 775 | 825 | 875 [ 925 |975 |1025 (1075 |1125(1175 (1225|1275 (1325
A 200 | 50 | 100 | 150 | 200| 50 | 100 | 150 | 200| 50 | 100|150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 0
M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5
N 4 6 6 6 6 8 8 8 8 10 10 10 10 12 112 12 12 14 14 14
KG 6.6 7 7.4 188 | 82| 8.6 9 9.4 197 110.1{10.5]10.9|11.3[11.7(12.1|12.4|12.8{13.2]13.6 | 14

t

[l

1a
JHC
JHC50

Hh

(=1

P

JHC65

JHC100

JHC110

JHC135

JHC175




=2 X|74
T

d16m mj

PRE

B

JHC135 - 10 - 100-PC- P - 10-B - C5

N=dH
| PSEEE= AEZF DEYR| XA} B ZE=2 USEIN|
05 smm 100~1050mm PC | UE 20| Alat 10| - 20| Alat
10 10mm 50mm Gt PD | A& 20| 200W
16 | 16mm PL | ZESZA 40 | 400w
20 | 20mm PR | $5%1Z 75| 750W

034

| WA=

ZEIEHACW) 400
HHEE M & (mm) +0.02
AFEXMOIC Cra
2|=(mm) 5 10 16 20
Z|tH& = (mm/sec) 250 500 800 1000
- _ A
A EE T 110 88 48 40
(kg) ESN 33 22 10 8
Z=2(N) 1388 694 433 347
AEZ3(mm) 100~1050 (502t
37|(mm) 135%76.5
M 5I1E515/2HE
90° My
0° e e
42l (mm) E2{(mm) Eh2l(mm)  STARBAI
=4 0° 90° =H 0° 90° ] 0° 90° MY 551(N)
60kg [2448mm|322mm 60kg |1394mm|204mm 20kg |762mm |614mm MP 552(N)
2|=5 | 80kg 2197mm|257mm 2|=5 | 80kg [1115mm|[130mm  2|E5 | 25kg |607mm [489mm MR 485(N)
110kg 2005mm{219mm 110kg |895mm| 85mm 33kg [498mm|483mm
30kg [1958mm|490mm 30kg [1277mm|414mm 10kg [1365mm|1101mm
2|E10 | 50kg [1660mm|333mm 2|E10 | 88kg [929mm|235mm 2|E10 | 15kg |901mm|727mm
88kg |1725mm243mm 75kg |751mm|129mm 22kg |674mm|543mm
10kg [2265mm|961mm 10kg |1410mm|461mm 2kg |1067mm(1217mm
2|E16 | 20kg 1402mm|537mm  2|E16 | 20kg [1027mm|264mm 2|=16 | 4kg |997mm |805mm
48kg [1047mm|324mm 48kg |832mm | 148mm 10kg |747mm |603mm
10kg [2263mm|958mm 10kg |[1709mm| 997mm 4kg 402mmP2018mm
2|E20 | 20kg [1400mm|535mm  2|=20 | 20kg |985mm|513mm g2|=p0 | 6kg [1701mm{1366mm
40kg [1052mm|328mm 40kg |640mm|268mm 8kg [1305mm{1055mm




Hzol IE HESF

| 2EI=2

PC (2E{LIZ) ©2{(mm) PL E&5%2) £)(mm)
L L
260 T 700 150 REAE
140 140 110
[—Tﬁj 122
A, [ 201 55 CUY
<47 ' ol = 5 e e
18 o &h . . e = . T8
55 old i . 551 |
o o6x15 H7 ; 8- M6x15 ﬁ?
@ 2-26x15 H7
12 v e 4-M5x10 — 122
e 1 50 4-M5x10 @
ol ] ) — o T .
106 106
135
= 70 M*200 A 70 5105
160 M*200 A 80
E B2 I ”“‘l, N-@7 N=M6x1D
gl s **“ / * / * im
2 e 10|
e @ o o !S’g
N-27 N-M6x10 2 = P
170 M*200 X A |70 60 | T°M*200 | A "1 80
SSAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 S|BAER3 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040| 1090| 11401190|1240|1290(1340(1390|1440 L 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 |1040|1090|1140|1190|1240(1290 |1340
A 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 A 200 | 50 | 100 [ 150|200 | 50 | 100 | 150|200 | 50 | 100|150 | 200| 50 | 100 | 150 | 200| 50 | 100 | 150
M 1 1 1 12 |2 2 | 2 |3 3| 3|3 |4 | 4|4 ]| 4] 5|5 |65 5 M 0| 1 1 1 1 2 2 | 2 |2 3] 3] 3|3 4| a | 4] 4|5 |5 5
N 6 | 6 |6 |6 |8 |8 g | 8 |10 101010121212 121414 |14 |14 N 4 6 | 6 |6 |8 8 | 8 |8 [10]10 1010|1212 121214 |14 |14
KG 76| 8 |85 9.5 |10 [10.4| 11 [11.4| 12 |12.4(12.9|13.4|13.9]/14.4|14.9] 15.4{15.9[16.3 [16.9 KG 7.6 85| 9 | 95|10 [10.4] 11 |11.4| 12 [12.4|12.9]13.4/13.9]14.4|14.9| 15.4/15.9(16.3 [16.9
PD (=EziZ) £H2{(mm) PR (2&¢12 E4l(mm)
L L
135 SEAEES 110 150 OEXEES 110
]‘2‘2 .l 2-26x15 H7
AGD 20— | 8-M6x15 YCAIR
; J e — & 9 @& —= = &Em
A I ° ° 8N ) : 1.8
18 N ] o o 55 |
55 S
° o ey
il o & - EIR"Y %
2-6x15 H7 \8-M6x15 5
50, 4-M5x10 122
1750 4-M5x10 r—
, = { b
5 | D[ O, 3 o] i E g
g'\gﬁ R R ﬁw i
i
106
135 18 M*200 A 80 60 M*200 A 80
N-@7 1 _
[ L2 :ﬂa WM + Pﬂqw -
7 el o5
o S 1-axis
. : i
LS e s o I N-97 N-M6x10
gg| MEMBAD a0 A 70
70 M*200 70 -
JHC100
QSAEE3 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 SBAEZ3 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 348 | 398 | 448 | 498 | 548 | 598 | 648 | 698 | 748 | 798 | 848 | 898 | 948 |998 [1048|1098|1148|1198[1248(1298 L 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 |1040[1090|1140|1190[12401290(1340
A 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 A 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200| 50 | 100 | 150
M 1 1 1 1 2 | 2 2 | 2 |3 3| 3|3 |4 | 44| 4|5 |5 |65 5 M 0| 1 1 1 1 2 2 | 2 |2 3] 3] 3|3 4| a| 4] 4|5 |5 5
N 6 |6 |6 |6 |8 |8 8 | 8 [10 10|10 101212121214 14 |14 |14 N 4 6 | 6 | 6 |8 s | g8 |8 [10]10 1010|1212 121214 |14 |14
KG 76| 8 | 85| 9 | 95|10 [10.4] 11 |11.4| 12 |12.4(12.9|13.4/13.914.4[14.9|/16.4/15.9(16.3 [16.9 KG 7.6 85| 9 | 95|10 [10.4] 11 [11.4] 12 [12.4]12.9]13.4/13.9/14.4[14.9|15.4/15.9|16.3 |16.9

036

03

7



"HEEE

ZEIESHACW) 750
HHEE M & (mm) +0.02
AFEXMOIC Cre
2|=(mm) 5 10 20 40
Z|cH& =(mm/sec) 250 500 1000 | 2000
- _ ATH
A EE T 120 95 83 50
(kg) ESN 50 40 25 12
Z=2(N) 2563 1281 640 320
AEZF(mm) 100~125 (50Et2))
37|(mm) 170%95
W 51515/ HE
90° My
0° o e
42l (mm) Et2l(mm) Elmm)  SEAREA|
=4 0° 90° =H 0° 90° +&| 0° 90° MY 1032(N)
60kg [2980mm|577mm 60kg |2438mm | 530mm 20kg [1510mm|1220mm MP 1034(N)
2[E5 |100kg [2000mm[331mm  2|=5 [100kg [1995mm|277mm  2|=5 | 30kg [1210mm|990mm MR 908(N)
120kg [1846mm|269mm 120kg [1836mm|215mm 50kg [992mm|962mm
60kg 2440mm|[570mm 60kg 2441mm|533mm 15kg [1778mm|1778mm
2|E10 | 75kg 2010mm|336mm  2|=10 | 75kg p010mm|293mm  2|=10 | 25kg [1050mm|1050mm
95kg |1851mm274mm 95kg 1851mm|230mm 40kg |750mm | 750mm
30kg [2652mm|994mm 30kg 2573mm|982mm 5kg |1700mm{1700mm
2|E16 | 50kg [1775mm|593mm 2|E16 | 50kg 1680mm|569mm 2|=16 | 10kg |2202mm|2202mm
= 83kg [1396mm|267mm 83kg 1258mm|337mm 25kg [1485mm|1485mm
10kg [3545mm|2203mm 10kg [3500mm|2020mm 12kg | 650mm | 650mm
2|E20 | 30kg R545mm[1185mm 2|=20 | 30kg P480mm|1200mm Z|E20 - - -
50kg 2640mm|739mm 50kg 2518mm|755mm - - -
PCH PD& PLS PR
W A27C
JHC175 - 10-100-PC-P - 10-B - C5
N=dH
2
1-axis
JHC
B A322c AEZF 1SN DE{X| XA} DE 22 ISEIbN
05 Smm 100~1250mm PC | L% 20| ALet 10| - 20| ALet
10 | 10mm 50mm £t PD | 2Z 20| 200W
20 | 20mm PL | ZEMZA 40| 400W
gl 40mm PR | £E0I1Z 75 | 750W




PC (ZELHE)

169.2
145

%

170

L

FRAEZT 130

2-28x15 H7
4-M8x20

e
E%%‘
1l e e
169 M*200 A 95
lea I
4+ k23 /D‘ Ead
ol o N_M8x12
S
=2 N-9
44 S \‘ Ead
184 M*200 INEN

EF2{(mm)

S8AEZ3 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 100010501100115012001250

L 514|664 (614 |664 814|864|914|964(10141064{11141164{1214{1264({1314{1364{1414{1464(1514(1564(1614/1664
A 50 (100 {150 |200 150(200| 50 {100{150{200| 50 |100|150|200| 50 |100{150|200| 50 {100 |150 |200
M 1 1 1 1 2 2 |3 3|3 3|4 4 1414165 5 5 5 |6 6 6 6
N 6 | 6 6 | 6 8 | 8 |10 |10 |10 |10 |12 [ 12 (12 |12 |14 |14 |14 |14 |16 |16 |16 |16
KG 11.8(12.6(13.4(14.2|14.9 16.5(17.3| 18 [18.8(19.6|20.4({21.1/21.9|22.723.5|24.2| 25 |25.8|26.6|27.4(28.2| 29 [29.8

PD (zEziZ)

L

1650 S9&AE 125
MORON(112.2) 2-08A5 H7
5 5
o
™~
- % ] )
100 4-M8x20
136
169.2
145.2
22 5o 4-MBx10
8 Ju [ L
“l8 EE =/ =
170
30 M*200 A 9%
e B
& Cxa +
1\ =
| N-M8x12 g|[F
ot 2 B
45 M*200 A 80

£H2l(mm)

FEAEE3 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900

950 100010501100115012001250

FEAEE3 100 150 200 250 300 350 400 450 500 550 600

PL == Et(mm)
L
T80 SEAEZT_ 130
152
29 2-28x15 H7
169.2
2 Sl L
e 4
92 M* 200 A_ 80 170
o N=Y
SIS N-M8x12
oo of oo
e
77 M*200 ['a] o5
S2AER3 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 100010501100115012001250
L 462 712 1762(812862(912|962(1012(1062[1112 1212(1262[1312(1362(1412(14621512
A 100 150({200| 50 |100|150{200| 50 | 100|150 50 |100(150(200| 50 |{100(150
M 1 2 2 3 3 3 3 4 4 4 5 5 5 5 6 6 6
N 6 8 8 |10 |10 |10 |10 |12 |12 |12 14 |14 |14 |14 |16 |16 |16
KG 12.6 16.5(17.3| 18 |18.8]19.6|20.4/21.121.9|22.7 24.2| 25 |25.8|26.6|27.4|28.2| 29
PR = EH2|(mm)
. L
To! SSAEZT T30
37.96'1.1
| 2-28x15 H7 e
100 4-M8x20
36
169.2
21.99 50 4-M5x10 1452
170
77 200 M*200 A 95
B fo B
o N-9
= § N-M8x12
92 200 M*200 | A 80

650 700 750 800 850 900 950 100010501100115012001250

L 375|425 (475|525 675|725(775(825|875|925|9751025[1075(1125(1175(1225(1275(1325(1375(142514751525
A 50 (100 {150 (200 1560|200| 50 | 100{150{200| 50 |100|150|200| 50 |100{150|200| 50 {100 {150 |[200
M 1 1 1 1 21213 3|3 3|4 4141415 5 5 5|6 6 6 6
N 6 | 6 6 | 6 8 | 8 |10 |10 |10 |10 (12 |12 (12 |12 |14 |14 |14 |14 |16 |16 |16 | 16
KG 11.8(12.6(13.4(14.2|14.9 16.5(17.3| 18 [18.8(19.6(20.4|21.1/21.9|22.7\23.5|24.2| 25 (25.8(26.6(27.4(28.2| 29 |29.8

040

L 462 712|762(812(862(912|962(10121062/1112 12121262[1312/1362(1412(14621512
A 100 150|200| 50 |100|150{200| 50 | 100|150 50 |100(|150{200| 50 {100{150
M 1 2 12 ]3 3|3 3 |4 4 | 4 5 5 5 516 6 6
N 6 8 | 8 |10 |10 |10 |10 |12 |12 |12 14 |14 |14 |14 |16 |16 |16
KG 12.6 16.5|17.3| 18 |18.8(19.6(20.4/21.1(21.9|22.7 24.2| 25 |25.8|26.6|27.4|28.2| 29

t

[l

1a
JHC
JHC50

Hh

(=1

P

JHC65

JHC100

JHC110

JHC135

JHC175




JFC Al2|=

JEIZER 2 AJE cajo|" A|AE
Clean Room / Ball Screw

HZ Al2l=

BN dEirE

JFC65

NG S E

JFC100

ENE S E

Z|LHAEZ3 800mm

Z|[tHAE23 800mm

Z|LHAEZ3 1050mm

BFH TYPE

JFC110

JFC135

RmE

e TYPE

JFC175

S i 2

A}o|§ 118mm
Z|LHAEZ3 1050mm /P58
Z|f5ES 50kg

JUES 135mm
AJAEZT 1050mm /P 62
HIN5EE  95kg

AlO|= 170mm
ZHAERT 1250mm /P 66
Z|5HE 120kg




JFC - FRAEE & A3F Saj0|H AlAY AYE

= = 50 (100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000[1100|1200(1300 |1400(1500
2 10 7 100
JFC50 10 5 1.5 500
2 30 15 100
JFC65 10 15 5 500
5 50 12 250
10 30 8 500
16 22 5 800
JFC100 20 18 3 1000
5 50 12 250
10 30 8 500
16 22 5 800
JFC110
20 18 3 1000
5 95 27 250
10 75 18 500
200W 135 +0.02 16
16 44 7 800
5 95 27 250
JFC135 10 75 18 500
400W 135 +0.02 16
16 44 7 800
20 35 6 1000
5 120 40 250
10 110 30 500
400W 170 +0.02 20
20 75 14 1000
5 120 40 250
JFC175
10 110 30 500
0.
750W 170 *0.02 20 20 75 14 1000
40 35 7 2000

* Ztis == 2E Z|TiE|F4 3,000 RPM 7|&




| =

S2EEZACW) 100
HH=43) = (mm) +0.02
ATEMOID cr=
2|=(mm) 2 5 10
m Z| e (mmy/sec) 100 250 500
b A | TS 10 10 S
e (ka) ESy 7 3 1.5
EE =2(N) 886 330 165
AEZ25(mm) 100~800 (50E+2))
37|(mm) 51x54
W 518515/ HE

90°

EHl(mm) H(mm) Elmm) SEAREA|

pS 0° 90° E] 0° 90° 0° 90° MY 16(N)

= = . . - = - ' - = 3kg | 40mm | 41mm MP 20(N)
800mmj IIEH%E 500mm/sj EE1%%F 1oowj A_%?T&"é ¢12mmj =2 — R R M= — - - =2 7kg | Omm | Omm MR 19(N)

4kg |515mm|135mm 4kg [380mm|{107mm

%
1A

Z|cH
AEZ2T

(

2|E5 2|E5 2|E5 | 3kg |56mm | 57mm
7kg |340mm| 62mm 7kg [195mm| 31mm
& 3kg |433mm|180mm 3kg |376mm|149mm
s 9 a=10 2|10 |1.5kg |125mm [125mm
5kg |223mm| 75mm 5kg |148mm|50mm
PDE PLE PRE] PME]
mFE3IC
JFC50 - 10 - 100-PC-P - 10- B -C5
M
553
1-axis
JFi
JFC50
[ RN AEZT DEYX| DER|RA} QeI MIMZ|
02 2mm 100~800mm PD | 214 20| Alat 10 | 100W 20| Alat
05 | 5mm 50mm cie) PL| z= 20| 200w
10 10mm PR | 2= 40 -
PM | St 75 -

046




PD (=ef=z)

£t2{(mm)
L
120 _ NEE] 67
& 2-@3x6 H7 ‘ T_A
5 A
° off 5’ ®
I'Lﬂ o °h e =
om 18£0.02 H | 4-M4x11
s 34
E 44
Ju
T " a
ﬂ 5 = \
[
‘gg$ e o+ e+ / e o+ %ﬂ
ﬁ; Yo}
N-M5x8.5 B Od%muj
67 M*40 AT
FRAE 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 237 287 337 387 437 487 537 587 637 687 737 787 837 887 937 987
A 50 60 30 40 50 30 40 50 30 40 50 30 40 50 30 40
M 2 4 6 7 8 9 11 12 13 14 16 17 18 19 21 22
N 3 5 8 9 10 12 13 14 15 17 18 19 20 22 23
KG 2.1 2.2 2.3 2.4 2.5 2.7 2.8 2.8 3 3.1 3.2 3.3 3.4 3.5 3.6 3.7
N £k2l(mm)
PL (B15912)
L
127 [EAERT . 67
75
¢% 20+1
801 —r 1850.00 9 gi3x6 H7
_ Lo A
A To /8looT
—| oy @ ®
[t} QI g, ®
= " 4-Md4x11
iml
5 ‘ 3
;
N-M5x8.5 54 51
© 0 [ o
‘@ © ° ° ° ° ° i! ° ° @H m%D:D
R R
75 M*40 AACHH
FEAE 50 100 150 200 250 300 350 400 450 500 550 (5]0]0] 650 700 750 800
L 245 295 345 395 445 495 545 595 645 695 745 795 845 895 945 995
A 50 60 30 40 50 30 40 50 30 40 50 30 40 50 30 40
M 3 4 6 7 8 9 11 12 13 14 16 17 18 19 21 22
N 4 5 7 8 9 10 12 13 14 15 17 18 19 20 22 23
KG 2.1 2.2 2.3 2.4 2.5 2.7 2.8 2.8 3 3.1 3.2 3.3 3.4 3.5 3.6 3.7

048

SH2l(mm)
L
130 FEYCEE] e
46.8+1 n A £4_
34
T 17]118+0.02
o = 2-213x6 H7 | 20821
— = [ERIr=cs.| ‘O
%L[ I =
— )
HUET N o H
a == = 4
| <
— ‘ = = :'\ﬁ': =1
|
N M*40 A
‘ B B A A ‘
R ——" e
=; AAEH
N-MBx8.5
[EAE 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 245 | 295 | 345 | 395 | 445 | 495 | 545 | 595 | 645 | 695 | 745 | 795 | 845 | 895 | 945 | 995
A 50 | 60 | 30 | 40 | 50 | 30 40 | 50 30 | 40 | 50 | 30 40 | 50 | 30 | 40
M 3 4 6 7 8 9 11 12 13 14 | 18 | 17 18 | 19 21 22
N 4 5 7 8 9 10 12 13 14 | 15 | 17 18 | 19 | 20 | 22 | 23
KG 21| 22 ] 23| 24| 25| 27| 28] 28 3 31| 32| 33 | 34| 35| 36| 3.7
PV (steeiz) el
L
127 RREAEES 67
75
34 201
M——r ~118/+0.02 2-@3x6 H7
LA+ A
T S— oy 8looT =
B;“,J E .
4-M4x11
44 e
S o i | n P
ﬂ; I o] g
[ |
% ©
©
[T}
s
@ B N N N N / N O] 1-axis
d JF
BT N-M5x8.5 L
115 M*40 A
- JFC100
ferER3 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 -
L 245 | 295 | 345 | 395 | 445 | 495 | 545 | 595 | 645 | 695 | 745 | 795 | 845 | 895 | 945 | 995
A 50 | 60 | 30 | 40 | 50 | 30 | 40 | 50 | 30 | 40 | 50 | 30 | 40 | 50 | 30 | 40
M 4 6 7 8 9 10 | 1 12 14 | 15 | 16 17 | 19 20 | 21
N 4 5 7 8 9 10 12 13 | 14 15 | 17 18 | 19 | 20 22 | 23
KG 21| 22 ] 23| 24| 25| 27| 28] 28 3 31| 32 | 33 | 34| 35| 36| 3.7




[JFC65 & |

[ R=n

ZEIEHACW) 100
B2 M2 = (mm) %0.02
AIRHUT 2
2|=(mm) 2 5 10
m Z|CH& = (mm/sec) 100 250 500
ru
AT
i Aot | TS 30 30 15
't%“ (ko) 45| 15 10 5
s =2\ 854 341 170
AEZF(mm) 100~800 (502t2))
37|(mm) 65x56
W 51E5HE/2HE
90°
TH2{(mm) E(mm) EHRlmm) SEALA|
P 0° | 90°  =d 0° | 90° PSY 0" | 90° MY 70(N)
Z|cH S - A S =Xl 10kg |374mm|109mm 5kg |530mm|[204mm 2kg [171mm|172mm MP 80(N)
PNEEERY 800mm e 500mmys Sy 00w S ®12mm 2|=5 | 30kg [159mm| 25mm  2|E5 | 10kg [245mm| 72mm 2|55 | 4kg |73mm | 74mm MR 75(N)
- - - 30kg 0 0 10kg | 23mm | 26mm
3kg [624mm|335mm 3kg [510mm|293mm 1kg [355mm|352mm
| | |
el=i0 8kg [273mm|121mm el=i0 8kg [210mm| 89mm BI=10 2kg [165mm|165mm
15kg |216mm| 77mm 15kg [130mm| 43mm 5kg |[70mm | 72mm
PDY PLS PR PME
mFEIC
JFC65 - 10 - 100-PC-P - 10- B -C5
EgH
o2
1-axis
JFi
TS | PEEE eS| W =EHEA 26182 M|
02 | 2mm 100~800mm PD | EH 20| ASt 10 | 100W 20| At
05 Smm 50mm £l PL | Z=E 20| 200W
10 10mm PR | 2= 40 -
PM | it 75| -

050




EEEY

0l TE M=

TH2{(mm)
L
125 SEAERS 75
49+1 304(0.02 2-@3x6 H7 ’i» 181
ALk I-NIBx12
o [ ok
-] ®
[; s [g5le oL =
78.4 44
50 60
[-3—4—‘ 110
. - R . ‘
SiERE : : =
42
- 2-M4x12 o4 M*40 A
| ‘\
e N = s
| ~ ‘\
C- N-4.50rM5 H
[BAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 327 377 427 477 527 577 627 677 727 777 827 877 927 977 | 1027
A 43 53 63 33 43 53 63 33 43 53 63 33 43 53 63
M 5 6 7 9 10 11 12 14 15 16 17 19 20 21 22
N 12 14 16 20 22 24 26 30 32 34 36 40 42 44 46
KG 2.7 2.8 3 3.2 3.4 3.6 3.7 3.9 4.1 4.3 4.4 4.6 4.8 5 5.1
PL (zh522) 9l
L
145 S5AERT 75
110
61
o 42.8 +(1
4 o-gexe HY
o I
@® ° n/n' S ®
. :
4-M5x12
= 30.09 +0.02
52.48+ 1 f
= m 0
0 5
M*40 A
42
N-4.50rM5 E 65
7 |
7 W‘ 8
|
bR
FRAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 334 | 384 434 484 534 584 634 684 734 784 834 884 934 984 | 1034
A 43 53 63 33 43 53 63 33 43 53 63 33 43 53 63
M 5 6 7 9 10 11 12 14 15 16 17 19 20 21 22
N 12 14 16 20 22 24 26 30 32 34 36 40 42 44 46
KG 2.7 2.8 3 3.2 3.4 3.6 3.7 3.9 4.1 4.3 4.4 4.6 4.8 5 5.1

052

PR(25%2) Sl
L
145 S5AEZT 75
30:0.02
2-@3x6 H7 181
4-MBx12
o
= oo o
@ ®
Q ®
Benl 68.8
56+ 1 44 50
60
110 Pﬂ
o il | )
I i ™~
M=E: = N "
91 M*40 A !30“
N-4.50rM5 ‘ ﬁ_]
‘ LA, ‘ 65
= = I
| ‘\

RBAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 334 384 434 484 534 584 634 684 734 784 834 884 934 984 | 1034
A 43 53 63 33 43 53 63 33 43 53 63 33 43 53 63
M 5 6 7 9 10 11 12 14 15 16 17 19 20 21 22
N 12 14 16 20 22 24 26 30 32 34 36 40 42 44 46

KG 2.7 2.8 3 3.2 3.4 3.6 3.7 3.9 4.1 4.3 4.4 4.6 4.8 5 5.1
P (teiz) el
L
145 25AE .75
. 30£0.02 5 g3ye H7
s 4-MBx12 BUESELLY
=e e | —
@® o~ ®
- g :
SoTo o[ o3 T
H
44
60
110
|
o —— % 5 2|3 = ‘ E
[fe]
[fe)
M*40 A
N-4.50rM5 ‘
‘\
/ 1 als
7 T
4 |
FRAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 334 384 434 484 534 584 634 684 734 784 834 884 934 984 1034
A 43 53 63 33 43 53 63 33 43 53 63 33 43 53 63
M 4 5 6 8 9 10 11 12 14 15 16 18 19 20 21
N 10 12 14 18 20 22 24 28 30 32 34 38 40 42 44
KG 2.7 2.8 3 3.2 3.4 3.6 3.7 3.9 4.1 4.3 4.4 4.6 4.8 5 5.1




[JFC100 & |

B
AEEZET

[ 1050mmj iIEHéE 1000mm/sJ EE%% 100W j *_%?T&"é d>16mmj

m =44

ZEEZHACW) 100
B (mm) 10.02
AIRYUE cra
2|=(mm) 5 10 16 20
2|4 =(mm/sec) 250 500 800 1000
A1
A7 IS 2T 50 30 22 18
(kg) ESS| 12 8 5 3
Z=3(N) 341 170 106 85
AEZF(mm) 100~105 (50TH$)
37|(mm) 108x80
B SIZ5I5/2HE
90°
-
EH(mm) £H2l(mm) HRl(mm) SEALAI

=4 0° 90° =H 0° 90° £ 0° 90° MY 110(N)

30kg |424mm| 25mm 10kg [1400mm| 105mm 5kg |100mm|145mm MP 110(N)
255 | s0kg | o 0 2l=5 | 20kg [538mm| 22mm  2IE5 | 10kg | 50mm | 90mm MR 120(N)

- - - 30kg 0 0 12kg | 23mm | 63mm

15kg |394mm| 79mm 10kg |545mm|100mm 4kg [335mm|375mm
2|E10 | 25kg [184mm| 25mm  2|=10 | 20kg [221mm| 20mm  2|=10 | 6kg |140mm|180mm

30kg |111mm| - 30kg 0 0 8kg |100mm|140mm

5kg [937mm|259mm 5kg |605mm|116mm 1kg |620mm|620mm
2|=16 | 10kg |487mm|116mm 2/=16 | 10kg |253mm| 24mm 2|=16 | 2kg |680mm|680mm

22kg |236mm| 44mm 22kg 0 0 5kg [310mm|310mm

5kg |940mm|264mm 5kg |903mm|251mm 1kg |580mm|580mm
2|=20 | 10kg [490mm|120mm 2|=2® | 10kg |436mm| 97mm 2|E20 | 2kg |645mm|645mm

15kg |240mm| 48mm 15kg |153mm| 23mm 3kg [310mm|350mm

PCH PDE PLE PRE

mz2ac

JFC100 - 10 - 100-PC-P - 10- B -C5

HiZH
B A352= M 2AEZ3 DEQX| SE{H|IRAL B e MM
05 | 5mm 100~1050mm PC | LiZE 29| Atst 10 | 100W 29| Atst
10 | 10mm 50mm e PD | A 20| 200w
16 | 16mm PL | 5 40| 400w
20 20mm ; o= TSW

054




PC (2ELHE) £49l(mm)
L
275 SEAE 130
4-N5x15
=2 ]
- © ©
8 S
2 ° °
| T o
64 2-@5x12 H7
80 {2=09x12 H/
160 104
80
1
of I %
@
N-M5x9 %é
on_ M*200 A \ 83
[EAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 503 | 5563 | 603 | 653 | 703 | 753 | 803 | 853 | 903 | 953 |1003|1053|1103|1153|1203|1253|1303|1353|1403 |1453
A 200| 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200| 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
M 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6
N 4 6 6 6 8 8 8 8 10 10 10 10 12 |12 12 12 14 14 14
KG 6.77| 7.2 |7.62]8.04|8.47|8.89|9.31|9.73(10.16[10.58| 11 |11.4311.8512.27/12.7 13.12|13.564(13.96(14.39(14.81
PD (=E{ziZ) £t (mm)
L
T4 SEAEZT 130
4-MBx15
K3 ¢ |
@ ]
S
] ]
k3 T \:B
= —
@ 2-@5x12 H7
80 e=gox12 A/
160
8 4-M5x10 104
50 - 80
[
i } o ) 3
S @ @
Bt _folm R
i + + 1=l
v -
4 + + \\ H "
6356 ] M*200 | A . 83
FRAE 100 150 200 250 300
L 394 .5/444.5|494.5544 5594 .5/644.5/694 .5(744.5|794.5|844.5/894.5(944.5/994 .5[1044.5(1094.51144.5(1194.5(1244.51294.51344.5
A 200| 50 | 100 [ 150 | 200| 50 | 100 | 150 | 200| 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5
N 4 6 6 6 6 8 8 8 8 10 10 10 10 12 | 12 12 12 14 14 14
KG 6.77| 7.2 |7.62|8.04|8.478.89|9.31/9.73(10.1610.58| 11 [11.43[11.85(12.27/12.7 13.12|13.54{13.96{14.3914.81

056

180

180, FEAEFT 130
80
6 4-Mbx15
_ A
i3
@ @
N
=3
@ ]
IEIA \%
2-@5x12 H7
160
104
ne) N L
!\ :‘ﬂn 4 ® ®
76.2 ‘ 102.1
* + =
N-Mbx9 o
@
. . N

150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050

{EAEEI 100
L 392.5442 5492 5542.5(592.5/642.5(692.5742.5(792.5[842..5/892 .5/942 .5/992.5(1042.51092.51142.51192.51242.51292.5(1342.5
A 200] 50 100|150 | 200 50 | 100|150 200] 50 | 100|150 [ 200 | 50 | 100 | 150|200 | 50 | 100 | 150
M o111l l2l212121313l3 3] alalalals |5 s
N | 4] 6] 6|6 |6 |8 |88 |8 |10|10]10]10]12]12]12]12]14]14]1a
KG 6.77| 7.2 | 7.62|8.04|8.47|8.89|9.31]9.7310.16[10.58] 11 |11.4311.85[12.2712.7 13.12[13.54[13.96/14.3914.81
PR (2&%2) EH2|(mm)
L
185 SEAERT 130
4-M5x15
2
[} : @‘
I
[} ®
B
e
64
LS9\ l2-gBx12 H7
160 4-M5x10 104
o
[e5] nﬂ:D
@
102
_BA A
+ + |
|5z
8 & £
x N 1-axis
N-M5x9 JF
- X
M*200 A 83
98AER3 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 392.5442 5492 5(542.5(592.5642.5(692.5742.5[792.5/842..5/892 .5/942 .5/992.5/1042.51092.51142.51 192.5[1242 51292 5(1342.5
A 200| 50 100|150 | 200 50 | 100 | 150 | 200| 50 | 100|150 | 200 | 50 | 100 150|200 | 50 | 100 | 150
M01111222233334444555
N | 4] 6|6 |6 |6 |8 |88 |8 101010101212 ]12]12]14]14 714
KG 6.77] 7.2 | 7.62]8.04]8.47]8.89]9.31] 9.73[10.16[10.58] 11 [11.43[11.85/12.27/12.7 13.12]13.54[13.96/14.39)14.81

0574




e

ZEIEHEACW) 200

HHE A (mm) *0.02

AJEHAc cr2

2|=(mm) 5 10 16 20
" Z|tH& = (mm/sec) 250 500 800 1000
;Em OISR 4 60 40 25 18
Ti[ (kg) AX| 15 10 5 3
i =3(N) 341 170 106 85

AEZ5(mm) 100~ 105 (50TH$)

37|(mm) 110x91

M 18315/ 2HE

90° My

£H2l(mm) £H2{(mm) EFR|(mm) STARZAI
+4 0° 90° £H 0° 90° +&| 0° 90° MY 302(N)
30kg [1200mm[311mm 10kg |800mm |126mm 5kg |412mm|398mm MP 302(N)
2|=5 | 50kg [1100mm|124mm  2|=5 | 20kg |600mm|70mm  2|E5 | 10kg [394mm|356mm MR 118(N)
- - - 30kg [476mm| 50mm 12kg |357mm|355mm
15kg [1000mm|250mm 10kg (700mm|246mm 4kg |711mm|578mm
2|210 | 25kg |900mm|170mm  2|/E10 | 20kg |515mm[150mm 2|E10 6kg |534mm|414mm
30kg [850mm|{122mm 30kg |515mm|[150mm 8kg [411mm|376mm
5kg |2150mm|982mm 5kg [1579mm|1068mm 1kg [1210mm{1210mm
2|E16 | 10kg [1190mm|427mm  2|=16 | 10kg [776mm [405mm  2|=16 | 2kg [1174mm[174mm
22kg [1270mm|291mm 22kg |680mm |220mm 5kg |[650mm|650mm
5kg  [1936mm|882mm 5kg  [1420mm|958mm - - -
2|=20 | 10kg 1039mm|387mm  2|=20 | 10kg |696mm |361mm 2|=20 | - - -
15kg [1073mm|264mm 15kg |610mm[107mm 3kg [1030mm|802mm

PCH PO PLE PRE

JFC110 - 10 - 100-PC-P - 10- B -C5

Mz
=
1-axis
JF
| BRI M AEE3 HE2IX| SERIEAL ZEEY | BRI
05 | Smm 100~1050mm PC | LiZ 29| Atet 10 - 29 Atet
10 | 10mm 50mm 9| PD | 21z 20| 200W
16 | 16mm PL | A= 40| 400W
20 20mm PR | ©& 75| 750W

058




PC (2ELHZ) £t (mm) PL(z&92) =4 (mm)

L L
275 SEAEZ] 130 185 SsAE=3 130
g
4-M5x15 L 6 4-M5x15
i i .@ AL
AT i
g ° S ° ® ®
] @
[ (RN I 8 o i
B4 N
I'Em L%L _|2-25x12 H7 2-25x12 H7
0 160 i 160
g 104
E s 50 4-MBx10 F% 104
i Y —
ay for: . oftd & >
oY - 5 3
N-M5x9 Q|| N-M5x9 2 =
: ~
— — . 3
20 M*200 A 83 108 1T M*200 ‘ NS
STAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 SSAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 503 | 553 | 603 | 653 | 703 | 763 | 803 | 853 | 903 | 953 |1003{1053(1103|1153|1203(1253|1303|1353 (1403 (1453 L 383|433 |483|533(583|633|683|733|783[833|883/933/983(|1033({1083|1133[{1183/1233(1283|1333
A 200 | 50 | 100 | 150 | 200| 50 | 100 | 150 | 200| 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 A 200 | 50 | 100 | 150 | 200| 50 | 100 | 150 | 200| 50 | 100|150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
M 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5
N 4 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 N 4 6 6 6 6 8 8 8 8 10 10 10 10 12 112 12 12 14 14 14
KG 6.77| 7.2 |7.62|8.04|8.47|8.89|9.31|9.73(10.16[10.58| 11 |11.4311.8512.27/12.7 13.12|13.564(13.96(14.39(14.81 KG 6.77| 7.2 |7.62|8.04|8.478.89|9.31/9.73(10.16[10.58| 11 |11.43{11.85(12.27/12.7 13.12|13.564(13.96(14.39(14.81
PD (=E{zZ) £E2)(mm) PR (2&593%) £kQl(mm)
L L
145 o= AEZT 130 185 OSSAEZ] 130
\ 4-M5x15 \ _
‘ = = : 4-M5x15
o b
® o ® < g ‘
° ok~ 2 ® o <
1% = . ol =
[
64 — T
00~ |\_|2-25x12 H7 =
80 84 IN_|2-@5x12 Hy
160 104
104
80 L9 |
e — _
T 4 === == o5 Hm
e) s} oft) — 0
B A
0 |
& £
7 :
N-M5x9 3|8 N-M5x9
o c -
81.5 ¥ M*200 | A E 83 103 M*200 A 83
J
S25AE=Z3 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 SBAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 362.5/412.5(462.5/512.5562.5612.5[662.5[712.5(762.5(812 .5/862.5(912.5/962.5[1012.51062.5 112 5{1 162.51212.51262.51312.5 L 383|433|483|533|6583|633/683|733|783|833| 883/933983[1033]1083/1133]11831233/1283/1333
A 200| 50 | 100|150 | 200| 50 | 100 | 150 | 200| 50 | 100 | 150 | 200 | 50 | 100 | 160 | 200 | 50 | 100 | 150 A 200| 50 | 100|150 | 200| 50 | 100|150 | 200| 50 | 100|150 | 200 | 50 | 100 | 160 | 200 | 50 | 100 | 150
M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5
N 4 6 6 6 6 8 8 8 8 10 10 10 10 12 112 12 12 14 14 14 N 4 6 6 6 6 8 8 8 8 10 10 10 10 12 |12 12 12 14 14 14
KG 6.77| 7.2 |7.62|8.04|8.47|8.89]9.31/9.73(10.16[10.58| 11 [11.43[11.85[12.27/12.7[13.12(13.54{13.96(14.39(14.81 KG 6.77| 7.2 |7.62|8.04|8.47|8.89]9.31/9.73(10.16[10.58| 11 {11.43[11.85[12.27/12.7[13.12(13.54/13.96(14.39(14.81

061




W=7

SEEZACW) 400
HE= MBI (mm) +0.02
AIRHUT o7=1
2|=(mm) 5 10 16 20
m Z|CH5=(mm/sec) 250 | 500 800 | 1000
r
, - A
0'“ E[CH7 SIS T8 110 88 48 40
Tiﬂ (kg) £ 33 22 10 8
s =F(N) 1388 | 694 433 347
AEZ5(mm) 100~105 (50Et2))
37|(mm) 135x92
M 5I125H5/2HE
90° y
0 o w
EH2{(mm) _ E2(mm) CH2l(mm) SEARBAI
=4 0° 90° =H 0° 90° £ 0° 90° MY 551(N)
60kg 2448mm|322mm 60kg |1394mm|204mm 20kg |762mm|614mm MP 552(N)
2|E5 | 80kg [2197mm[257mm  2|E5 | 80kg [1115mm|130mm 2|=5 | 25kg [607mm|489mm MR 485(N)
110kg [2005mm|219mm 110kg |895mm| 85mm 33kg |498mm|483mm
30kg [1958mm|490mm 30kg |1277mm| 414mm 10kg |[1365mm|1101mm
2|E10 | 50kg [1660mm|333mm  2|=10 | 88kg |929mm|235mm  2|=10 | 15kg [901mm|727mm
88kg [1725mm243mm 75kg |751mm|129mm 22kg |674mm|543mm
10kg |2265mm|961mm 10kg [1410mm|461mm 2kg [1067mm[1217mm
2|E16 | 20kg [1402mm[537mm  2IE16 | 20kg | 027mm[264mm Z2|E16 | 4kg |997mm |805mm
48kg [1047mm|324mm 48kg [832mm|148mm 10kg [747mm |603mm
10kg [2263mm|958mm 10kg [1709mm| 997mm 4kg [2402mmpP018mm
2|E20 | 20kg [1400mm|535mm  2|=20 | 20kg |985mm|513mm 2|=20 | 6kg [1701mm[1366mm
40kg |1052mm|328mm 40kg |640mm|268mm 8kg [1305mm{1055mm
PCH PD& PLS PR
mFE3IC
JFC135 - 10 - 100-PC-P - 10 - B =-C5
EgH
oE
1-axis
JFi
| pEEER= AEZF SEQX]| SEX|ZEAL DERg MM
05 Smm 100 ~ 1050mm PC | L&t 20| Alat 10| - 20| Alat
10 | 10mm 50mm 9| PD | %iZ 20| 200W
16 | 16mm PL | ZI= 40| 400W
20 | 20mm PR | = 75| 750W

062




PC (=ELHZ) £42|(mm)
L
275 S5AE=S 735
2-26x15 H7
ad s ij Ad A
[Tl A o
[s2) o —1
® Ao g
. CRR? R A
84 4-M6x15
100
194
119
50 4-M5x10
~ =
o }\ \‘ u
L =d o9 it i
135
N-M6x10
+ A + ’
g o g
+ + + +
76 | M*200 | A [oa
[EAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 520|570 | 620 | 670 | 720 | 770 | 820 | 870 | 920 | 970 [1020(1070{1120(1170(1220|1270[1320|1370(1420|1470
A 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150|200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 | 4 4 5 | 5 5 5
N 6 6 | 6 6 | 8 8 8 8 |10 |10 |10 |10 | 12 | 12 |12 | 12 | 14 [14 |14 |14
KG 10.6| 11 [11.5| 12 [12.5| 13 [13.4| 14 |14.4| 15 |[15.4|15.9|16.4|16.9(17.4|17.9|18.4(18.9[19.3(19.9
PD (=Ez!z) £t (mm)
L
50 SEAERT 135
2-@6x15 H7
S :l hd hd
@ id ad
Ad |
O 5
*1_‘ & &
84 4-M6x15
100
190
119
700 8 50 4-M5x10

o R
ST ¢

+
|
+
+

lan

PL (zx%Z) E(mm)
L
85 SEAETT 145
2-@6x15 H7 ‘
T ¥ \
o] = o]
. 8 |
I — i
~ — + * *
] 84‘ 4-M6x15
| =¥ 100
190
8 50 4-MBX10 119
I ]
" O |
P - =
i <] \Lﬂg %
il N-M6x10
- P4 + +
/8 i
+ + + +
75.5] M*200 \ A | 94
SBAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 420.5|470.5/520.5570.5|620.5(670.5(720.5|770.5|820.5(870.5|920.5/970.5(1020.5(1070.5[1 120 .5[1170.51220.5(1270.501320.5/1370.5
A 50 | 100 | 150 | 200 | 50 | 100 | 1560 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
M 1 1 1 1 2 2 2 | 2 |3 3 3 | 3 4 4 | 4 4|5 |5 5 5
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 |12 12 14 14 14 14
KG 10.6| 11 |(11.5]| 12 |12.6] 13 |13.4| 14 |14.4| 16 |15.4|15.9[16.4|16.9|17.4(17.9|18.4]18.9[19.3]19.9
PR (2&%1Z) TH2{(mm)
L
785 SEAE=T 135
% 4-M6x15
g % °£ ¥ ¥
IN & (o]
& @
r 3] g
T - <3 - -
84 2-@6x15 H7
100
190
119
700
T B | i 1 _
+ 49 1 4 7 S 5 2
i ?‘131 1 T F % N S
¥ 06
765 M*200 A 94 135
| |
+ + + + 5
Ia-i
}35 I taxs
- JF

®8
+ + + +
395 M*200 ] A | w

TEAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
L 383.5[433.5|483.5|533.5583.5/633.5(683.5/733.5783.5833.5(883.5/933.5(983.5(1033.51083.5/1 133.5(1 183.5(1233.51283.51333.5
A 50 | 100 [ 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5
N 6 6 6 6 8 8 8 8 10 [ 10 | 10 | 10 | 12 | 12 | 12 12 |14 |14 | 14 | 14
KG 106 11 {11.5| 12 [12.5| 13 |13.4| 14 |14.4| 15 |15.4|{15.9|16.4(16.9|17.4|17.9|18.4|18.9[19.3|19.9

064

100

L 420.5/470.5/520.5/570.5(620.5/670.5[720.5(770.5/820.5/870.5(920 .5(970.51020.5/1070.5(1 120 .5(1 170 .5/1 220 5/1 270 .51 320.5/1370.5
A 50 | 100 | 150 | 200 | 50 | 100 | 150 (200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
M11112222333344445555
N 6 | 6|6 |6 |8 g | 8 | g8 101010101212 ]12 12]14 |14 |14 |14

KG 10.6| 11 [11.5| 12 [12.5| 13 [13.4| 14 |[14.4| 15 [15.4]15.9|16.4|16.9(17.4|17.9|18.4(18.9/19.3(19.9




Z|cH 1250m m]

_7I<_|EH—’$—E 2000mm;

@

PRE

| B

JFC175 = 10 - 100-PC-P -

10 - B =-C5

N=dH
| PELES AEZT DEQI%| SDENIZAL 2EIEE MAMPIR]
05 | Smm 100~1250mm PC | LKA 20| At 10/ - 20| At
10 | 10mm 50mm £ PD | ZiA 20| 200w
20 | 20mm pL | zI= 40| 400w
40 | 40mm PR | o= 75| 750W

| M=

ZEIEHEACW) 750
HE= MBI (mm) $0.02
AIRHLE crg
2|=(mm) 5 10 20 40
Z|CH& &= (mm/sec) 250 500 1000 | 2000
A7 IIE 2 120 120 83 50
(kg) 2E| 50 40 25 12
=3(N) 2563 | 1281 640 320
AEZ3(mm) 100~ 125 (50EH¢)
37|(mm) 175%107
W S5IE5HE/2HE
90° MY
0° e P
H2l(mm) E(mm) HRlmm) SEALEAI
4 0° 90° =M 0° 90° +3| 0° 90° MY 1032(N)
60kg [2980mm|577mm 60kg |2438mm|530mm 20kg [1510mm|1220mm MP 1034(N)
2|E5 |100kg 2000mm[331mm  2|E5 | 100kg [1995mm[277mm  2|E5 | 30kg f1210mm|990mm MR 908(N)
120kg [1846mm|269mm 120kg [1836mm215mm 50kg [992mm|962mm
60kg 2440mm|[570mm 60kg |2441mm|533mm 15kg [1778mm|1778mm
2|=10 | 75kg 2010mm|336mm  2|=10 | 75kg [2010mm293mm  2|=10 | 25kg [1050mm|1050mm
95kg |[1851mm274mm 95kg [1851mm230mm 40kg |750mm | 750mm
30kg [2652mm|994mm 30kg |2573mm|982mm 5kg |1700mm{1700mm
2|E16 | 50kg [1775mm|593mm  2|=16 | 50kg [1680mm|[569mm 2|=16 | 10kg |2202mm|2202mm
83kg [1396mm|267mm 83kg |1258mm|337mm 25kg [1485mm|1485mm
10kg [3545mm[2203mm 10kg |3500mm|2020mm 12kg |650mm|650mm
2|=20 | 30kg [2545mm[1185mm 2|=20 | 30kg [2480mm[1200mm 2|=20 | - - -

50kg [2640mm|739mm

50kg

2518mm|755mm




PC (2Efuz) 9i(m) PL (:15912) &2l
L L
285 SEAEZS 165 212%0 REAEET 165
2-@8x15 H7 _ 140 2-28x15 H7
. e 4-M8x20 . . . @ﬂ X : .
i : e :
IS
B : —
i - B * " 4-M8x20
T 140 154
> 230
154 ———n
Ju é@ + %
! 0 [T e—= T ] > +
2 | ] 4 :
i % T i E ;E
740
170 N-M8x12 N-M8x12
a + 7 >+ 5 =
S g g
L
4 4+ + + e 4+ + +
213 M*200 [A ] 110 17 ] M*200 A 110
SERAER3 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 100010501100115012001250 SEAEZF 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 100010501100115012001250
L 5421592 [642 (692 |742|792|842|892|942|992(10421092(1142(1192/12421292[1342[139214421492(1542(1592[1642[1692 L 440 1490 |540 (590 |640({690|740|790|840(890(940(990(10401090[1140/1190(1240{1290/13401390[1440[1490[1540(1590
A 50 {100 |150|200| 50 {100|150|200| 50 | 100|150{200| 50 |100|{150|200|50 |100|150|200| 50 [{100|150 |200 A 50 |100 |150({200| 50 {100|150|200| 50 |100|150{200| 50 |100|{150|200|50 [100|150|200| 50 [100|150 |200
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 6 6 6 8 8 8 8 |10 |10 (10 [ 10 |12 (12|12 |12 (14 (14 |14 |14 |16 |16 |16 |16 N 6 6 6 6 8 8 8 8 |10 |10 [10 [ 10 |12 |12 (12 |12 |14 (14 |14 |14 |16 |16 |16 | 16
KG 14.8]15.6(16.4(17.2(17.9]18.7/19.520.3| 21 [21.8(22.6(23.4|24.1124.9|25.7|26.5|27.2| 28 |28.8|29.6|30.4|31.2| 32 |32.8 KG 14.8/15.6(16.4|17.2|117.9]18.7|19.5|20.3| 21 |21.8|22.6|23.4|24.1|24.9|25.7|26.5|27.2| 28 |28.8|29.6|30.4|31.2| 32 |32.8
PD (=eiziz) £42{(mm) PR (25937 £42|(mm)
L L
178 SEAEZT 165 215 SEAEZT 165
2-@8x15 H7 T"Emﬁ
. + - 2-@8x15 H7
[ ¥ - I = 28x15 ) . AB)
| | © lo - 4 3.5
o= : il I
= e <] 8
o <5 2 1.8
B ol ¢ el 155
‘ T B0 - —* S S n .
14 | 124 4-M8x20 i
230 120 154
154
. T T
k =—— + *] 3 =]
Bel [k == s - ) i » F Lk T i
T i
| 170
170 | 117 : M*200 ‘ A ‘ 110
+ + ¥ i
- + 4 4 + N-M8x12 %

I
[=5]
140
170
170
¢
4
¢
140
C_T‘L’—l
-ngﬂw

N, @ JFC50

72 M*200 A 110 L]

QSAEE3 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 100010501100115012001250
L 400 |450|500 |550 | 600|650 | 700|750 | 800 [850 | 900|950 [1000/1050[11001 15001 200[1 250[1300/1 350[1 4001 450/1 5001 550 L 440|490 |540|590| 640| 690| 740| 790| 840/890|940| 990104010901 14011901240/129013401390/1440[1490154011590
A 50 |100|150(200| 50 [100[150]200| 50 | 100]150]200] 50 |100|150|200| 50 [100[150|200]| 50 |100 150 |200 A 50 {100 150|200 | 50 |100|150|200| 50 | 100|150|200| 50 |100|150|200| 50 [100|150|200| 50 |100|150|200
Mo 111122223 |3|3|3[aalalals|s5|5]|5]|6]|6]|6]6s M111122223333444455556666
N 6 | 6|6 |6 |8 ]|8]|8]|s[10]10[1010[12][12]12]12]14 1414141616 |16 |16 N 6 |6 |6 |6 |8 |8 ]|8]|s]10]10[10[10[12]12]12 121414141416 161616
KG [14.8]15.6[16.4[17.2[17.9]18.7119.520.3| 21 [21.8[22.6]23.4|24.1|24.9|25.7|26.5|27.2| 28 |28.8]29.630.4[31.2| 32 [32.8 KG  [14.815.6/16.4/17.2|17.9]18.7}19.5|20.3| 21 [21.8[22.6(23.4|24.1|24.9|25.7|26.5|27.2| 28 [28.8]29.630.4[31.2| 32 [32.8

068




JHB Al2|=

WIE Cajo[E A|AE

Standard / Belt TYPE i

GlCEEEL]

HIZE M2I=
B 2EES 5E WE TYPE

.
JHB50 — JHB110
AfO|x S4mm AOI= 110mm

EME KigE Z|(|AEZ3 800mm /P74 Z|lAEZ3 2550mm /P84
Z|iSkS 3kg Z|i5lE 10kg

A% TYPE

JHB65 g JHB135

i < JUIES 65mm " JUES 135mm
BN TS HHAEZ3 800mm /P77 FITE AIAEZST 3050mm /P88
Z|cistE 3kg Z[chskE: 25kg

EFS TYPE e TYPE

k / JHB100 JHB175 T
Ato|= 100mm ALo|= 175mm

Bt EHE  gyyaAezs 2550mm /P8O BHE HfAEZT 3050mm /P92
A0S 10k S5E 45k

070




- ?- 0 H —-- = -
= = 100 | 300 | 450 | 600 | 800 | 900 (1050(1200(1350 (1500(1650 (1800(|1950(2100|2150|2300|2550/2600{2750/2800|2850({2900/2950| 3000|3050
JHB50
oow | s | w2 w | 1
NE
Im
[n
]
2
[is
JHB110
JHB135
JHB175

" Z|tHE == 2 Z|0f3T4 3,000 RPM 7|&E

072




074

100~800mm

50mm £t

SEXIZAL l ZEEH AR
PW/| Al 29| Akat 10 | 100W =2 ARt
M | Bt 20| -
M o
e

| =

ZESHACW) 100
HHE 2 = (mm) £0.08
2|=(mm) 72
Z| & = (mm/sec) 3600
Aol | TS 2
(ka) +5|
FE(N 42
AEZ23(mm) 100~800 (505+9))
3A7|(mm) 50x54
M 518515/ HE
.
£H2|(mm) =2(mm) SEAEA|
+3 0° 90° £H 0° 90° MY S6(N)
MP 56(N)
3kg 250mm | 100mm 3kg 170mm 75mm MR 95(N)

[= =S
1-axis

JHB

JHB50




| 2EI=2 9ixlol w2 ME

=
L

L
REAERT 100
2- ¥3x6 HY ‘

120

43.84

N
<

18002 4-M4x11

50

mis
|
i}

I |
Im o
Iy | E 9 < B :]
(1]
=) 51
T
N-M5x8.5
|
O - - = -~ - - oogm
s P M*40 N
FEAE 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 275 | 325 | 375 | 425 | 475 | 525 575 | 625 675 | 725 | 775 | 825 875 | 925 | 975 | 1025
A 75 85 95 65 75 85 95 65 75 85 95 65 75 85 95 65
M 3 7 8 9 10 12 13 14 15 17 18 19 20 21
N 6 9 10 11 13 14 15 16 18 19 20 21 22
KG 2.1 2.2 2.3 2.4 2.5 2.7 2.8 2.8 3 3.1 3.2 3.3 3.4 3.5 3.6 3.7
PM (Hzdz) E(mm)
L
120 gaAERs 100
| 2onen

P

el
G I
! | amaxt
et

75

g

18'7.002

1 ]

— = s [}

T |
g ®

70.5

N-M5x8.5

H

C=
1-axis
SERCRNCN, NSRRI MCEY | rEZ3 iEH%ﬂ DERIEA} lga
‘ 80 M*40 ‘

| o @]

s3 PR e
R 100~800mm  PW| &t 2O AR 10| 100w O AR
50mm &t PM 6|’E‘|_|' 20 -
98AE23 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 I 0| .
L 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 | 825 | 875 | 925 | 975 | 1025 —
A 75 | 85 | 95 | 65 | 75 | 85 | 95 | 65 | 75 | 85 | 95 | 65 | 75 | 85 | 95 | 65 A
M 3 | 4 5 7 8 9 | 10 | 12 | 13 | 14 | 15 | 17 | 18 | 19 | 20 | 21
N 4 8 9 | 10 | 11| 13 | 14| 15 | 16 | 18 | 19 | 20 | 21 | 22
KG 21 | 22 | 23 | 24 | 25 | 27| 28 | 28 | 3 | 31| 32 | 33 | 34 | 35| 3.6 | 3.7

076




GlCEEEL]

[ =

DEESACW) 100
HHEHAIE (mm) 10.08
2|=(mm) 72
Z|CH5 (mm/sec) 3600
2

Aty | TS

(ko) 2%
S 42
AE2T(mm) 100~800 (50E4S)
37|(mm) 65x56

W 5iE5I5/ZHE

90°

v

R

£42l(mm) £42l(mm) SEAEA|
24 0° 90° =0 0° 90° MY 93(N)
3kg 450mm | 200mm 3kg 340mm | 150mm MP 93(N)
MR 257(N)

078

=
T"

PW (M212) =elmm)
L
160 SEAEET 100
30 2-@3x6 H7
A
= 1518 :
44
650 4-M5x12
110
50
=z
[©]
o
— o
A :
———— n » T ©
: - )
| = eol| ™ B
[ | <
65
117 M*40 A
j L
T } } A‘\
= b \ =
T X V‘\
o N-4.50rM5 Rl
SEAERS 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 360 410 460 510 560 610 660 710 760 810 860 910 960 | 1010 | 1060
A 85 95 65 75 85 95 65 75 85 95 65 75 85 95 65
M 5 7 8 9 10 12 13 14 15 17 18 19 20 21
N 8 10 11 13 14 15 16 18 19 20 21 22
KG 2.2 2.3 2.4 2.5 2.7 2.8 2.8 3 3.1 3.2 3.3 3.4 3.5 3.6 3.7
PV (stet12) i)
L
160 QaAE 00
30002
002  2-236H7 ‘
A=l 8
. %
ol k4 O
= E .
[o51- o Elo m—
44
60
10 4-M5x12
— _ ﬁim .
. ] :
=z
[ 1| 2
o
o)
s
‘ 117 M*40 A 65
| |
X A ae
\K > V“ N| ©
I N-4.50rM5 3

360

L 460 510 560 610 | 660 710 | 760 | 810 | 860 910 | 960 | 1010 | 1060
A 85 95 65 75 85 95 65 75 85 95 65 75 85 95 65
M 4 5 7 8 9 10 12 13 14 15 17 18 19 20 21
N 5 6 9 10 11 13 14 15 16 18 19 20 21 22
KG 2.2 2.3 2.4 2.5 2.7 2.8 2.8 3 3.1 3.2 3.3 3.4 3.5 3.6 3.7

Cix
1-axis

JHB




"HEEE

PHEZACW) 400
gh= M9l o (mm) 10.08
2=(mm) 90
Z|CH& = (mm/sec) 4500
_ A 5

Z|h7HH5HS e

(ko) X
F2N) 61
AEZF(mm) 100~2550 (50EH)
37|(mm) 100x105

W SI1E5IS/2HE

90°

Hl(mm) Et2l(mm) SEABA|
B 0° 90° =d 0° 90° MY 110(N)
A MP 110(N)
[ jé'EH 2550m mj 5|LH%E 1600m mlsj [ =I=iS= 200w £ 15mm 5kg | 1400mm | 600mm 5kg | 1100mm | 660mm MR 120(N)
= 8kg 1100mm | 400mm 8kg 850mm | 450mm
P 10kg 1000mm | 350mm 10kg 800mm | 350mm

Cl=

1-axis
JHB
m MR

:

mAEZ] m ZERX| m ZERIZEA m ZEEY
100~2550mm PL | ZE 20| ALt o - 20| At
 sommgmel  PR| 95 _20] 200W JHB100
PW| oEt 40| 400w uHB 100
IEE 75| 750w

080




2l

| — |
PL (=522 EH(mm) PW (4tei2) =(mm)
L
_ SEAE 115
3 185 S§AEZS 115 30
9 4-M5x15
[‘E:]‘ 4-M5x15
Ca— o~
o S
e ® ®
i T -gbx12H7 T
® T2 obx12 7 = 2
o (o)
o
105
3
9 ©
q | E
: s Lk
= ©
102 2
13
Im
In 198.6 M*200 A 71
o [ ( N-M5x9 ‘
=) Pt o ‘M Y
Iz =] ™ Eal e T N-@55 7 7 o
o ® ° o
©|2 N-M5*x9 &[S
s s pes s ° ° 4 R
2085 | M=o | A | 61 150 M*200 A [ 60
SSAEZT 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 SBAER3I 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300
L 410 |460 |510 |560 |610 |660 | 710|760 |810 |860 | 910 |960 [1010 |1060 [1110 [1160 1210 {1260 |1310 (1360 [1410[1460 [1510[1560 [1610 L 410 460 |510 |560 |610 |660 |710]760 |810 [860 |910 |960 [1010 [1060 1110 [1160 [1210 [1260 1310 [1360 [1410[1460 [1510[1560 [1610
A 200 [ 50 [100 [150 |200 | 50 [100 [150 [200 | 50 [ 100 [150 [200 [ 50 [100 [150 200 | 50 |100 [150 [200 [ 50 [100 [150 [200 A 200 | 50 [100 [150 [200 | 50 [100 |150 [200 | 50 [100 [150 [200 | 50 [100 |150 [200 | 50 [100 [150 [200 | 50 [100 |1560 [200
M o |1 |1 |1 |1 |2 2|2 |2 |3 |33 3|4 |4 ]| 4|4 |5 |5 |5 |5 |6 |6 |6 |6 M__|o |1 |1 |1 |1 |2 2|2 2|3 |33 |3 |4 |4 | 4|4 |5 |5 |5 |56 |6 |6 |66
N 4 | 6 6 6 | 6 8 8 | 8 8 [ 10 [ 10 [10 |10 |12 |12 | 12 [14 [14 [14 |14 |14 |16 |16 | 16 | 16 N 4 | 6 6 6 | 6 8 8 | 8 8 [ 10 |10 |10 |10 |12 |12 | 12 [14 [14 |14 |14 |14 |16 |16 | 16 | 16
KG 8.8 |7.23]7.65]8.07[ 8.5 [8.9219.349.76 [10.19]10.61]11.03[11.46[11.88[12.3[12.73]13.15[13.57[13.99|14.42]14.84]156.26[15.68 16.1 [16.52[16.94 KG 8.8 7.23]7.65 [8.07] 8.5 |8.92[9.349.76 [10.19]10.61]11.03]11.46[11.88] 12.3 [12.73]13.15[13.57/13.99[14.42[14.84]15.26[15.68] 16.1 |16.52[16.94
2050
L 16601710 [1760 [1810 [1860 [1910 [1960 [2010 [2060 [2110[2160[2210 P260 2310 P360 2410 2460 2510 2560 [2610 2660 [2710 2760 2810 [2860 L 1660 1710 [1760 [1810 [1860 [1910 1960 [2010 [2060 [2110 (2160 [2210 P260 [2310 P360 2410 2460 2510 [2560 [2610 2660 [2710 2760 [2810 [2860
A 50 |100 |150 [200 | 50 [100 [150 [200 | 50 [ 100 [150 [200 |50 [100 [150 [200 [ 50 [100 [150 [200 | 60 [100 [150 [200 | 50 A 50 100 [150 [200 [ 50 [100 [150 [200 | 50 [100 [150 [200 [50 [100 [150 [200 [ 50 [100 [150 |200 | 50 [100 [150 [200 | 50
M 7 7 7 7 8 8 8 8 9 9 9 9 10 10 10 10 |11 11 11 11 12 12 12 12 |13 M 7 7 7 7 8 8 8 8 9 9 9 9 10 10 10 10 | 11 11 11 11 12 12 12 12 | 18
N 18 |18 | 18 |18 [ 20 | 20 | 20 | 20 | 22 | 22 [ 22 [ 22 |24 |24 |24 | 24 |26 |26 |26 |26 |28 |28 |28 |28 |30 N 18 |18 |18 [ 18 [ 20 [ 20 [ 20 [ 20 | 22 [ 22 [ 22 [ 22 |24 |24 |24 | 24 |26 |26 [26 [26 [28 [28 |28 |28 |30
KG 17.36]17.78/18.2 [18.62]19.04[19.46]19.88] 20.3 [20.72[21.14[21.56[21.98] 22.4 [22.82]23.24|23.6624.08] 24.5 [24.9225.34]25.76[26.18] 26.6 [27.02[27.44 KG 17.36[17.78]18.2 [18.62[19.04[19.46[19.88] 20.3 [20.72|21.14[21.66121.98] 22.4 [22.82/23.24]23.66[24.08] 24 .5 [24.92[25.34]25.76[26.18] 26.6 [27.02[27 .44
PR (2297) £k2)(mm) PM (stteiz) H2i(mm)
L
L+50.5 _
785 [CEPNTE] 15 185 S8AEZ3 115
: 90 E%ﬂ 4-M5x15
- ’—Mﬂi 4-M5x15
s L[] : =
= o . @ T 2-@5x12 H7
L
TR 2-@bx12 H7 E
105
11 5 4-M5x10 r——‘87
| I e 8 _J@
4T O
© <
& ©
102
198.5 M*200 A 70
==l " N-gb5 7 - A M*200 A 70
N-M5x9 %9 Y B
oo N 4 " N-@55 "7 ° [2E
* N-M5x9 &S 1axi
2085 | M*200 A 60 X e axis
pas w JHB
150 \ M*200 \ A 60
[FSAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 RBAEZF 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300
410 460 [510 [6560 [610 |660 |710[760 |810 [860 [910 [960 [1010 [1060[1110 [1160 1210 [1260 [1310 [1360 [1410[1460 [15101560 |1610 L 410 460 [510 [560 |610 |660 | 710|760 [810 [860 | 910 [960 1010 [1060[1110 1160 [1210 1260 [1310 [1360 [1410/1460 1560 [1610
A 200 | 50 [100 [150 [200 | 50 [100 [150 [200 | 50 | 100 [150 [200 | 50 [100 |150 |200 | 50 |100 |150 [200 | 50 [100 |150 |200 200 | 50 [100 |150 |200 | 50 [100 [150 [200 | 50 | 100 [150 [200 | 50 [100 |150 |200 | 50 [100 [150 [200 [ 50 150 (200  Rabay
M__Jlo 1 |1 |1 1|2 2|2 2 |33 |33 |4 | 4| 4|4 |5 |5 |5 |5 |6 |6 |6 |6 o |1 {1 |1 |1 |2 |2 |2 |2 |3 |3 |3 |3 |4]|4]|a4 5 | 5 | 5 |6 |6 6 | 6
N 4 | 6 6 6 | 6 8 8 | 8 8 [ 10 [ 10 [10 [ 10 |12 [ 12 | 12 [14 [14 [14 |14 |14 |16 |16 | 16 | 16 4 | 6 6 6 | 6 8 8 | 8 8 |10 [ 10 |10 [ 10 [12 [12 | 12 14 114 [ 14 [14 |16 16 | 16
KG 8.8 |7.23]7.65]8.07] 8.5 [8.92]9.34]9.76 [10.19[10.61[11.03[11.46[11.88[12.3[12.73]13.15[13.57[13.99]14.42]14.84]15.26[15.68] 16.1[16.52[16.94 8.8 |7.23]7.65]8.07 8.5 [8.929.349.76 [10.19]10.61]11.03[11.46[11.88[ 12.3 [12.73[13.15[13.57[13.99[14.42[14.84|15.26[15.68 16.52[16.94
AE 2350 2400 2350
L 16601710 [1760 [1810 [1860 [1910 [1960 [2010 [2060 [2110 (2160 (2210 2260 [2310 2360 2410 460 2510 2560 2610 2660 2710 2760 [2810 2860 16601710 [1760 1810 [1860 [1910 1960 [2010 [2060 [2110(2160(2210 P260 2310 360 2410 2460 2510 2560 2610 [2660 2710 2810 [2860
A 50 |100 |150 [200 | 50 [ 100 [ 150 [200 | 50 [ 100 [150 [200 | 50 |100 |150 [200 [ 50 [100 [150 [200 | 50 [100 [150 |200 | 50 50 |100 |150 [200 [ 50 [100 [ 150 [200 | 50 [ 100 [150 [200 |50 [100 [150 |200 100 [150 [200 | 50 |100 200 | 50
M 7 1 7 7 7 | 8 8 8 | 8 9 9 9 [ 9 [10 [10 10 10 [11 [11 [11 [ 11 [12 [ 12 [12 [12 [13 7 | 7 7 7 | 8 s s | 8 9 9 9 [ 9 [10 [10 [ 10 |10 11 11 [ 11 [12 [12 12 |13
N 18 |18 | 18 | 18 | 20 | 20 | 20 | 20 | 22 | 22 |22 [ 22 |24 |24 |24 | 24 |26 |26 |26 |26 |28 |28 |28 | 28 |30 18 |18 | 18 |18 [ 20 | 20 [ 20 | 20 | 22 | 22 | 22 [ 22 |24 |24 |24 | 24 26 |26 | 26 | 28 |28 28 | 30
G 17.36]17.7818.2 [18.62]19.04[19.46]19.88] 20.3 [20.72[21.14]21.56[21.98] 22.4[22.82]23.24|23.6624.08] 24.5 [24.9225.34]25.7626.18] 26.6 [27.02[27.44 17.36]17.7818.2 [18.62]19.04[19.46]19.88] 20.3 [20.72]21.14[21.56[21.98] 22.4 [22.82[23.24|23.66]24.08] 24.5 [24.92[25.34]25.7626.18 27.02[27.44

082




7=

PHEZACW) 400
HHEEH A (mm) +0.08
2=(mm) 90, 100
Z|CH& = (mm/sec) 4500
ApmreE | T8 10

(kg) 25|
F2N) 61
AEZF(mm) 100~2550 (50=+2))
37|(mm) 110%105

W 51515 /ZHE

90°

EHl(mm) EH2l(mm) SEABA|
A 0° 90° = 0° 90° MY 110(N)
Z|ch 1A ook MP 110(N)
PP 2550mm | | SRS 1600mmys| | ERERECE 400W 5kg | 1400mm | 600mm 5kg | 1100mm | 660mm VR 120(N)
8kg 1100mm | 400mm 8kg 850mm | 450mm
- 10kg 1000mm | 350mm 10kg 800mm | 350mm

PLE PR PWE PME

| ES -r—l-_x_

JHB110-100-PC-P -10-B-C5

HiZ 3
EE]
1-axis
JHB

mAEZT m ZESX] m ZEXEAL | EEFZEr m MM
100~2550mm PL xi= 29 Aret - 29 Aret
50mm £ PR 2= 20 200W
PW | Atct 40| 400W
PM | 5ict 75| 750W

084




g Hxlof| IE HF

PL (s52412) E19i(m) PW (4ieiz) &#i(m)
L+70 L
© o et 125 BEAEED 125
54 4-M5x15 4-M5x15
e =
R
- — — = — =
2 3 =]
- ° o |® s © — o
ﬁ gi’
S S 2-@5x12 H7 2-25x12 H7 110
90

2 | =
76
7 717‘
b
e,

nE 110
m
n 150 M*200 | A 70 150 M*200 | A 70
2N
=) E>s +* B
T c ¢ N=55 - = — ka2 = =
N-M5x9 IS RS N-M5x9 &=
= - “ e = ]
160 M*200 ‘ A 60 160 | M*200 ‘ A 60

350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300

SEAERET 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 RBAE 100 150 200 250 300
L 420 470 |520 |570 [620 670 | 720|770 [820 [870 |920 [970 [1020 [1070 [1120 [1170 [1220 [1270 {1320 [1370 [1420[1470 [1520/1570 [1620 L 420 |470 |520 |6570 |620 |670 | 720 (770 {820 [870 |920 [970 [1020 [1070 [1120 1170 1220 1270 [1320 [1370 [1420[1470 [1520[1570 [1620
A 200 | 50 [100 [150 [200 | 50 [100 [150 [200 | 50 [100 [150 [200 | 50 [100 [150 [200 [ 50 [100 [150 [200 | 50 [100 [150 |200 A 200 | 50 [100 [150 [200 | 50 [100 [150 [200 | 50 [100 [150 [200 | 50 [100 [150 [200 [ 50 [100 [150 [200 | 50 [100 [150 |200
M  |o |1 |1 |1 |1 |2 |22 |2 |3 {33 |3 |4 |4 | 4|4 |5 |65 |5 |5 |6 |6 |66 M o |1 |1 1|1 |2 |2 |2 |2 |3 |33 |3 |4 |4 | 4|4 |5 |5 |5 |5 |6 |6|6/|6
N 4 6 6 6 6 8 8 | 8 8 |10 [ 10 [ 10 |10 [12 [ 12 | 12 |14 |14 |14 |14 |14 |16 |16 | 16 | 16 N 4 6 6 6 6 8 8 | 8 8 |10 [ 10 [ 10 |10 [12 [ 12 | 12 |14 |14 |14 |14 |14 |16 |16 | 16 | 16
KG 6.8 [7.23]7.65 [8.07] 8.5 [8.92[9.34[9.76 [10.19]10.61[11.03[11.46]11.88[12.3 [12.73[13.15[13.57[13.99]14.42|14.84]15.26]15.68] 16.1]16.52]16.94 KG 6.8 [7.23]7.65 [8.07 ] 8.5 [8.92[9.34[9.76 [10.19]10.61[11.03[11.46]11.88[12.3 [12.73[13.15[13.57[13.99]14.42|14.84]15.26]15.68] 16.1]16.52/16.94
FSEAERET 1350 1400 1450 1500 1550 1600 1650 1700 1750 1800 1850 1900 1950 2000 2050 2100 2150 2200 2250 2300 2350 2400 2450 2500 2550 RBAEZT 1350 1400 1450 1500 1550 1600 1650 1700 1750 1800 1850 1900 1950 2000 2050 2100 2150 2200 2250 2300 2350 2400 2450 2500 2550
L 1670 [1720 [1770 [1820 [1870 |1920 [1970 |2020 [2070 [2120[2170 (2220 [2270[2320 [2370( 2420|2470 520 [2570 [2620 2670 [2720 2770 2820 [2870 L 1670 1720 [1770 [1820 [1870 [1920 1970 [2020 [2070 [2120 [2170 (2220 [2270[2320 [2370[2420|2470 2520 2570 2620 2670 [2720 2770 [2820 [2870
A 50 | 100 [150 [200 | 50 [100 | 150 |200 | 50 | 100 | 150 [200 | 50 |100 | 150 | 200 | 50 | 100 |[150 |200 | 50 | 100 [150 [200 | 50 A 50 |100 [150 [200 | 50 [100 | 150 |200 | 50 | 100 | 150 [200 | 50 |100 | 150 | 200 | 50 | 100 |[150 |200 | 50 |100 [150 |[200 | 50
M 7 7 7 7 8 8 8 8 9 9 9 9 10 10 10 10 [ 11 11 11 11 12 12 12 12 | 18 M 7 7 7 7 8 8 8 8 9 9 9 9 10 10 10 10 | 11 11 11 11 12 12 12 12 | 13
N 18 |18 | 18 |18 | 20 | 20 | 20 |20 | 22 | 22 | 22 |22 |24 |24 |24 | 24 |26 |26 |26 |26 |28 |28 |28 |28 |30 N 18 [18 | 18 |18 [ 20 | 20 [ 20 [ 20 | 22 | 22 |22 |22 |24 |24 | 24 | 24 |26 |26 |26 |26 |28 |28 |28 |28 |30
KG 17.3617.78]18.2 [18.62]19.04]19.46[19.88] 20.3 [20.72[21.14[21.56[21.98] 22.4[22.82[23.24]23.66[24.08| 24.5 [24.92[25.34|25.76[26.18] 26.6 |27.02]27.44 KG 17.3617.78]18.2 [18.62]19.04[19.46[19.88[ 20.3 [20.72]21.14[21.56[21.98] 22.4[22.82[23.24]23.66[24.08] 24.5 [24.92[25.34|25.76[26.18] 26.6 [27.02]27.44
PR (2&917) £42|(mm) PM (et z) Etl(mm)
L+70 S
RSAEET 125 SRAEZT 125
4_‘ 1-MBx15 ’__QQ;_L 4-M5x15
o O g g i
o °
- [
© ; ? 2-@5x12 H7 a
2-@5x12 H7 oS
N
110 110
’__QO__1 90
- _ il
4 Ele_d i Jﬁf WD@ Q Eg E
a ~
= o
110 3
i
150 M*200 A 70
150 M*200 A 70
2B - _
2 L lps \ "
° ° N=55 ®|2 = N=055 > — EEs
= D |— —5. ChE
L. N-M5x9 N-M5x9 &= e
T
= Y = o+ v ot JHB
160 M*200 A 60 W 160 | M*200 \ A 60
SEAER23 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 SBAEE3 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300
L 420 470 |520 |570 [620 |670 |720[770 [820 [870 [920 [970 [1020 [1070 [1120 [1170 1220 [1270 [1320 [1370 [1420/1470 [15201570 1620 420 [470 |520 |570 1620 |670 |720[770 [820 [870 [920 [970 [1020 [1070 1120 [1170 1220 [1270 [1320 [1370 [1420[1470 [1520/1570 [1620
A 200 | 50 |100 |150 [200 | 50 |100 [150 [200 | 50 |100 [150 [200 | 50 [100 [150 |200 | 50 [100 | 150 |200 | 50 [100 |150 |200 A 200 | 50 |100 | 150 [200 | 50 | 100 |150 |200 | 50 | 100 [150 [200 | 50 |[100 |150 [200 | 50 |100 | 150 [200 | 50 |[100 |150 |200
M o |1 |1 |1 |1 |2 |22 |2 |33 |3 |3 |4 |4 |4 |4 |5 |5 |5 |5 |6 |6 |6 |6 M lo |1 1 b0 |12 2 12 23313 |3 |4 |4 | 4l4 |5 |5 5|56 |66 |6 [N
N 4 6 6 6 6 8 8 | 8 8 [ 10 [ 10 [ 10 |10 |12 |12 | 12 |14 [14 |14 |14 |14 |16 |16 | 16 | 16 N 4 6 6 6 6 8 8 | 8 8 [ 10 [ 10 [ 10 |10 |12 |12 | 12 |14 [14 |14 |14 |14 |16 |16 | 16 | 16
KG 6.8 [7.23]7.65 [8.07] 8.5 [8.92 [9.34[9.76 [10.19[10.61]11.0311.46]11.88[12.3 [12.73[13.15[13.57[13.99|14.42[14.84]15.26[15.68] 16.1 [16.52[16.94 KG 6.8 [7.23]7.65 [8.07] 8.5 [8.929.34[9.76 [10.19]10.61]11.03[11.46]11.88[12.3 [12.73]13.15[13.57[13.99]14.42|14.84]15.26]15.68] 16.1 |16.52[16.94
2050 2100 2150 2200 2250 2300 2350 2400 2450 2500 2550

RBAEZF 1350 1400 1450 1500 1550 1600 1650 1700 1750 1800 1850 1900 1950 2000
1820 1870 {1920 1970 |2020 |2070 {2120 |2170 |2220|2270|2320 |2370|2420|2470 2520 [2570 {2620 2670 [2720 2770 2820 [2870

L 1670|1720 1770 1820 [1870 |1920 [1970 {2020 |2070 2120|2170 (2220|2270 (2320 {2370|2420]24702520 2570 [2620 [2670 [2720 2770 2820 [2870 L 16701720 [1770

A 50 |100 [150 |200 | 50 [100 | 150 |200 | 50 | 100 | 150 |200 |50 |100 [150 |[200 | 50 | 100 [150 [200 | 50 |[100 [150 |200 | 50 A 50 |100 [150 {200 | 50 [100 | 150 |200 | 50 |100 | 150 |200 | 50 |[100 |[150 |200 | 50 |100 [150 [200 | 50 |100 [150 |200 | 50
M 7 7 7 7 8 8 8 8 9 9 9 9 10 10 10 10 | 11 11 11 11 12 12 12 12 | 18 M 7 7 7 7 8 8 8 8 9 9 9 9 10 10 10 10 | 11 11 11 11 12 12 12 12 | 138
N 18 18 18 18 20 20 | 20 | 20 22 | 22 22 | 22 24 | 24 24 24 | 26 26 26 26 | 28 28 28 28 | 30 N 18 18 18 18 20 20 | 20 | 20 22 | 22 22 | 22 24 24 24 24 | 26 26 26 26 | 28 28 28 28 | 30
KG 17.36[17.78/18.2 [18.62[19.04/19.46|19.88(20.3 |20.72|21.14{21.56[21.98| 22.4 [22.82(23.24/23.6624.08| 24.5 |24.92|25.34|25.76[26.18| 26.6 [27.02[27.44 KG 17.36[17.78/18.2 [18.62(19.04/19.46(19.88(20.3 [20.72]21.14]21.56[21.98| 22.4|22.82(23.24/23.66|24.08| 24.5 |24.92|25.34|25.76[26.18| 26.6 [27.02[27.44

086




BPEEZACW)

BHE 2 = (mm)

2=(mm)

Z| & =(mm/sec)

)]

4|
hd

100~3050 (50EH%)

W GIE5IS/ZHE |

90°

2T

23 o

Jw
e

10kg 2700mm

10kg

20kg 2100mm

20kg

MY 551(N)
MP 552(N)
MR 485N)

25kg | 1700mm

25kg

135 -100-PC-P -10-B-C5

ogl

:

i
>

_{

)

m ZEHEY

[val

flral

T

100~3050mm

it

0z
rn

ol
-

rm

10
20

40

75




GlCEEEL]

Tt2{(mm)

PL =&%2)

L+70

133
111
i
~
., ™~
135
210 M*200 A_70
[N-27 [
Rad ++ Rl o s

106
135

had Radilihad
o b
220 \_ N-M6 x10 ‘ A \_60
M*200
SFAEZJ 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550
L 460 | 510 [ 560 | 610|660 | 710 | 760 | 810 | 860 | 910] 960 [1010|1060[1110]1160]1210] 1260] 1310 1360] 1410] 1460 1510| 1560 1610[1660|1710|1760|1810[1860]1910
A 50 | 100 [ 150 | 200 [ 50 | 100|150 | 200 | 50 [ 100150 [200 | 50 [ 100|150 [ 200 | 50 | 100] 150] 200] 50| 100[ 150] 200] 50 | 100[ 150 | 200 | 50 | 100
M 1 1 1 1l 2| 2| 2| 2| 3| 3| 3| 3| 4| 4| a| 4| 5] 5|5 5] 6| 6] 6] 6| 7] 7] 7] 7] 8] 8
N 6 | 6| 6| 6| 8] 8| 8| 8 | 10| 10|10 | 10| 12|12 ] 12| 12| 14| 14|14 |14 |16 | 16| 16| 16| 16 | 18 | 18 | 18 | 20 | 20
KG 86| 9 | 95| 10 |105| 11 |11.4| 12 |12.4] 13 |13.4[13.9]|14.4|14.9|15.4[15.9 [16.4]16.9[17.3]17.9 [18.5|19.1| 19.7/20.3[20.9 [215| 22.1| 22.7[23.3|23.9
1650 1700 1750 1800 1900 1950 2000 2050 2100 2150 2200 2300 2350 2400 2450 2500 2600 2650 2700 2750 2900 2950 3000
L 19602010 2060 [2110 [2160 [2210 2260 [2310 [2360 [2410 2460 510 [2560 |2610[2660 [2710 [2760 [2810 [2860 [2910[2960 [3010|3060(3110 |3160[3210|3260[3310 |3360[3410
A 150 | 200 | 50 [100 | 150 [200 |50 [100 [150 |200 |50 [100 [150 | 200 | 50 [100 160 |[200 | 50 [100 |150 200 | 50 [100 [150 [200 | 50 [100 | 150 | 200
M 8 | 8| 9| 9| 9| 910 | 10|10 10 |11 [ 11| 11 [ 11 | 1212 [12 |12 [13 13 [13 |13 |14 | 14 |14 |14 |15 |15 | 15 | 15
N 20 [ 20 | 22 | 22| 22| 22 |24 | 24| 24 |24 | 26 | 26 | 26 | 26 | 28 | 28 | 28 | 28 [ 30 |30 [30 [30 |32 [32 [32 |32 [34 [34 [34 ] 34
KG 24.5]25.1]26.7[26.3 [ 26.9]27.5|28.1]28.7[29.3 [29.9]30.5|31.1|31.7]32.3[32.9]33.5[34.1|34.7[35.3|35.9[36.5|37.137.7| 38.3] 38.9] 39.5] 40.1] 40.7] 41.3[41.9
o= Cto
PR (2592) =l(mm)
L+70
259 FRAEZT
18111 140 140
“ 12% ‘
o
g g
3 I
- 8 Ml [}
| | — =
; 2-26x15 H7 8-M6 x15
50 4-M5x10 133
I.Dl 111
o 1
:a = | 7 ﬁ
LEgg%%éEEEé%EgEEEEEEEEEEEEEEEEEEEEEEEEEE# N
IN
. . .
135
210 M*200 A_70
— T wo [
I o+ ¢ ERT
T ©|v
O|M)
| 44 +
A N-MBX10 ‘ ‘
220 M*200 A _ 60
150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550
L 460 | 510 [ 560 | 610|660 | 710 | 760 | 810 | 860 | 910] 960 [1010|1060[1110]1160]1210] 1260] 1310 1360] 1410| 1460 1510| 1560 1610[1660|1710|1760|1810|1860]1910
A 50 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100150 [ 200 | 50 | 100|150 ] 200 | 50 | 100| 150| 200| 50| 100 | 150| 200] 50 | 100] 150 | 200 | 50 | 100
M 1 1 1 1l 2| 2] 2] 2| 3| 3| 3| 3| 4| 4| a| 4| 5] 5|5 5] 6| 6| 6] 6| 7] 7] 7| 7] 8] 8
N 6 | 6| 6| 6] 8] 8| s8] s | 1010|1010 12]12]12]12] 14| 14]14 |14 |16 | 16] 16| 16] 16| 18] 18 | 18] 20| 20
KG 86| 9 | 95| 10 |105| 11 |11.4| 12 |12.4] 13 |13.4[13.9]|14.4|14.9|15.4|15.9 [16.4]16.9[17.3]17.9 [18:6|19.1| 19.7]20.3[20.9 [21.5| 22.1| 22.7[23.3 | 23.9
1650 1700 1750 1800 1850 1950 2000 2050 2100 2150 2200 2250 2300 2350 2550 2600 2650 2700 2750 2800 2850 2900 2950 3000
L 19602010 2060 [2110 [2160 [2210 2260 [2310 [2360 2410 2460 P510 [2560 |2610[2660 |2710[2760 [2810 [2860 [2910[2960 [3010|3060[3110 |3160[3210|3260[3310 |3360]3410
A 150 | 200 | 50 |100 | 150 |200 | 50 |100 [150 |200 | 50 |100 [150 | 200 | 50 [100 | 150 | 200 | 50 |100 |160 | 200 | 50 [100 |[150 |200 | 50 |100 | 150 | 200
M 8 | 8] 9| 9| o] 9|10 [ 10|10 |10 [ 11 [ 1111 [ 11| 1212 [ 1212 [13[13 [13 [13 [14 |14 |14 |14 |15 |16 |15 | 15
N 20 [ 20 |22 | 22| 22| 22|24 | 24| 24 |24 | 26 | 26 | 26 | 26 | 28 | 28 | 28 | 28 [ 30 [ 30 |30 [30 |32 [32 [32 |32 [34 [34 |34 | 34
KG 24.5]25.1]25.7[26.3 [ 26.9[27.5[28.1] 28.7[29.3 [29.9]30.5 [31.1]31.7[32.3[32.9]33.5[34.1|34.7[365.3[35.9[36.5| 37.1]37.7] 38.3] 38.9/ 30.5] 40.1] 40.7] 41.3[41.9

£

8.1

135

775 655

122

8-M6 x15

1

40

TH2{(mm)

133

B

77.5

135

%M 100 150 200 250 300 350 400 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550
L 460 | 510 | 560 | 610 | 660 | 710 | 760 | 810 | 860 | 910| 960 [1010]1060|1110|1160|1210| 1260| 1310 1360] 1410 1460 1510| 1560 1610[1660|1710|1760|1810| 1860|1910
A 50 | 100 | 150 | 200 | 50 | 100 | 150 [ 200 | 50 | 100|150 | 200 | 50 | 100 | 150 | 200 | 50 | 100| 150| 200| 50| 100 | 150| 200 | 50 | 100 | 150 | 200 | 50 | 100
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7 7 7 7 8 8
N 6 6 6 6 8 8 8 8 10| 10 | 10 10 12 12 12 12 | 14 14114 | 14 16 16 16 16| 16| 18 18 18| 20 20
KG 8.6 9 95| 10 |10.5] 11 |11.4| 12 |12.4| 13 |13.4[13.9|14.4|14.9(15.4(16.9 |16.4(16.9|17.3|17.9|18.5|19.1|19.7|20.3|20.9(21.5|22.1|22.7|23.3|23.9

1600 1750 1800 1850 2000 2050 2100 2150 2200 2250 2300 2400 2500 2550 2600 2650 2700 2750 2800 2900 2950 3000
L 1960(2010 (2060 |2110 (2160 |2210 2260 2310 2360|2410 460 P510 {2560 (2610 |2660 [2710 [2760 |2810 [2860 [2910{2960 |3010{3060{3110 |{3160|3210{3260|3310|3360|3410
A 160 | 200 | 50 |100 | 150 [200 |50 [100 |150 [200 |50 |100 {150 |[200 | 50 (100 |150 |200 | 50 [100 {150 {200 | 50 (100 |150 |200 | 50 [100 | 150 | 200
M 8 8 9 9 9 9 |10 10 | 10 10 11 11 11 11 12 [ 12 12 12 13 |13 |13 13 14 14 14 |14 15 15 15 15
N 20 20 | 22 22 22| 22 | 24 24 | 24 | 24 26 26 | 26 | 26 28 | 28 28 | 28 | 30 | 30 [30 |30 |32 32 32 |32 |34 |34 34 34
KG 24.5|25.1|26.7|26.3 |26.9(27.56|28.1|28.7(29.3 {29.9|30.5 [31.1|31.7|32.3 [32.9|33.5|34.1|34.7|35.3 |35.9|36.5|37.1|37.7| 38.3| 38.9| 39.5| 40.1| 40.7| 41.3|41.9
= o
PV (steteiz) =l
205 SRAEZT 175
133

0

~

~

106
135

M*200

Radliha
N—I\/FMO‘ A

60

SSAEZT 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550
L 460 | 510 [ 560 | 610 | 660 | 710 | 760 | 810 | 860 | 910] 960 [1010]1060[1110[1160|1210]1260] 1310 1360] 1410 1460 1510| 1560 1610[1660]1710|1760]1810|1860[1910
A 50 [100 | 150 [ 200 [ 50 | 100 [150 [ 200 | 50 [ 100|150 [ 200 | 50 | 100 | 150 [200 | 50 | 100] 150] 200] 50| 100 | 150] 200] 50 | 100 150 | 200 | 50 | 100
M | 1l 1 1|1 2] 2| 2| 2|3|3|3[3| 4| 4| a| 4| 5| 5| 5| 5| 6| 6| 6| 6| 7| 7| 7| 7| 8| 8
N 6| 6| 6| 6| 8| 8 s | 8] 10]10]10]10]12]12]12]12]14] 14141416 ] 16] 16] 16] 16] 18] 18] 18] 20 [ 20
KG 86| 9 | 95| 10 |105| 11 |11.4] 12 |12.4] 13 |13.4[13.9|14.4|14.9|15.4|15.9 [16.4|16.9|17.3]17.9 |1855|19.1| 19.7/20.3[20.9 |21.5| 22.1| 22.7|23.3 | 23.9

1700 1750 1800 1850 1900 1950 2000 2050 2100 2150 2200 2250 2300 2400 2450 2500 2550 2600 2650 2700 2750 2800 2850 2900 2950 3000
L 1960|2010 [2060 2110 2160|2210 2260 [2310 |2360 2410 460 p510 |2560 [2610|2660 [2710 [2760 [2810 |2860 |2910 2960 |3010|3060(3110 |3160|3210|3260|3310 3360|3410
A 150 | 200 | 50 [100 |150 |200 | 50 |100 |150 |[200 |50 |100 |150 |200 | 50 |100 150 |200 | 50 [100 |150 |200 | 50 [100 |150 [200 | 50 [100 |150 | 200
M 8 8 9 9 9 9 |10 10 | 10 | 10 11 i i M 12 |12 12 12 |13 |13 |13 |13 14 14 14 114 |15 15 15 15
N 20 | 20 | 22 22 | 22| 22| 24 24 | 24 | 24 26 | 26 | 26 | 26 28 | 28 28 | 28 | 30 | 30 |30 |30 |32 32 132 |32 |34 |34 34 34
KG 24.5|25.1|25.7|26.3 |26.9|27.5|28.1|28.7(29.3 |29.9|30.5 [31.1|31.7|32.3 [32.9/33.5|34.1|34.7|35.3|35.9 |36.5|37.1|37.7| 38.3| 38.9| 39.5| 40.1| 40.7| 41.3|41.9

JHB135




:

i
>

_{

o

[val

flral

T

100~4050mm

it

0z
rn

-

ol
rm

mOESY  m AR
0| - 2o Afg

20| -

W 400W

? 750W

| =]

ZEEHACW)
BHE 2 = (mm)
2=(mm)
Z|CH& = (mm/sec)
A
L7 SIS e
(ka) ESS)
ZEN)
AE23(mm) 100~4050 (50+])
37|(mm)
W 5{Z515/ZHE
90°
EH2l(mm) £H2l(mm) SEHAZA|
ES ] 0° 90° =0 90° MY 1032(N)
10k 3000 1300 10k 1300 bl 1034(N)
mm mm
¢ mm g MR 908(N)
20kg 2300mm | 800mm 20kg 800mm
30kg 2000mm | 600mm 30kg 600mm
45kg 900mm | 290mm 45kg 290mm

[= =S
1-axis

JHB

JHB175




PL (z5937) El(mm) PW (d¢tag) E?i(mm)

L+71 L
205 SEAEZ] 175 | 208 SEAE
2-218x15 H7 ‘ 2-08x15 H7 175
= |° ° Q| ° © °
R 8 = ©
- o ol g - ° ° o
g
100 4-M8x20
100 4-M8x20 136
136
169.2
22 50 4-M5x10 | 250 _awsao
E&:V ; | ?r \f&m — ; 5
= = | 2 === = j
b | |
— }
170
NE
im x
f 125 M*200 A 85 125 M#200 A 55
2 o 6o o $o oo ¥{ ]
i3 == N=2F| ol — N=29| ol
N-M8x12 I o d N-M8x12 i
N 5o N o
140 M*200 A 4Q
140 | M*200 | A lo \ [ A &

SSAEZT 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550 QEAEZT 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550
L |480 |530 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930 980 |1030|1080]1130]1180|1230]1280|1330[1380 1430 1480]1530| 1580[1630|1680| 1730] 1780 1830] 18801930 L | 480|530 | 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930| 980 |1030|1080]1130]1180|1230]1280[1330 1380 1430|1480 1530| 1580|1630 | 1680] 1730] 1780| 1830] 18801930
A 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100] 150 | 200 | 50 | 100 150 | 200 | 50 | 100] 150] 200] 50| 100| 150] 200] 50 | 100| 150 | 200 | 50 | 100 | 150 A 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100|150 | 200 | 50 | 100] 150 | 200 | 50| 100] 150] 200] 50] 100 150] 200] 50 | 100] 150 | 200 | 50 | 100 | 150
M | i v i 1 2] 2] 2] 2| 3] 3| 3| 3| a| a| a| 4| 5| 5| 5| 5] 6| 6| 6| 6| 7| 7] 7| 7] 8| 8 M| 1 1 1] 1] 2] 2] 2121 3] 3| 3| 3| a|a| al a|s]| 5| 5] 5] 6] 6| 6] 6| 7] 7] 7] 7] s s
N | 6] 6] 6] 6] 8 8] 8] 8] 10]10[10]10]12]12] 12| 12]14] 14] 1414 16| 16| 16| 16 | 16| 18| 18 | 18] 20 | 20 N | 6] 6] 6] 6] 8 8] 8| 8] 10]1010]10]12]12] 12| 12| 14| 14| 1414 16| 16| 16| 16 | 16| 18| 18 | 18] 20 | 20
KG | 12 |13.8]14.6 15.416.1]16.9 | 17.7|18.5|19.2] 20 |20.8 |21.6]22.3 | 23.1|23.9| 24.7|25.4|26.2 | 27 |27.8 |28.6 |29.4| 30.2] 31 |31.8]32.6|33.4| 34.2 35 |36.8 KG | 12 |13.8|14.6|15.4|16.1|16.9 17.7|18.619.2| 20 |20.8|21.6|22.3|23.1|23.9| 24.7|25.4|26.2 | 27 |27.8|28.6|29.4|30.2] 31 |31.8|32.6|33.4| 34.2| 35 |35.8

1700 1750 1800 1900 1950 2000 2050 2100 2150 2200 2250 2300 2350 2400 2450 2500 2550 2600 2650 2700 2800 2850 2950 3000 1650 1700 1750 1800 1850 1950 2000 2050 2100 2150 2200 2250 2300 2350 2400 2450 2500 2550 2600 2650 2700 2750 2800 2850 2950 3000
L |1980]2030[2080 |2130 [2180 [2230 2280 [2330 |2380 |2430 2480 | 2530|2580 [2630 [2680 [2730 [2780 [2830 [2880 |2930 2980 [3030|3080[3130 |3180|3230(3280 3330 | 3380| 3430 L |1980|2030 [2080 2130 [2180 |2230 280 [2330 [2380[2430 [2480 | 2530[2580 2630 |2680 [2730 |2780 [2830 2880 |2930 2980 |3030|3080 3130 |3180|3230 32803330 | 3380| 3430
A 200 50 | 100 | 150 | 200 | 50 | 100 |150 | 200 | 50 | 100 | 160 | 200 | 50 |100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 A 200 50 | 100 | 150 | 200 | 50 | 100 |150 |200 | 50 | 100 | 160 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 |100 | 150 | 200 | 50 | 100 | 150 | 200 | 50
M 5| 8] 9 | 9] o] 9|10 |0 0|10 11 | 1] 1|1 | 1212 12|12 13 |18 [13 |13 |14 |14 |14 |14 |15 |15 |15 | 15 M s | 8] 9 | 9] o] o |10 |10 10 10 11 | 1|1 11| 12 2 | 12|12 13 |13 [13 |13 |14 |14 |14 |14 |15 |15 |15 | 15
N 20 | 20 | 22 | 22| 22| 22 | 24 | 24| 24 | 24 | 26 | 26 | 26 | 26 | 28 | 28 | 28 | 28 | 30 | 30 | 30 |30 |32 | 32 | 32 |32 |34 |34 | 34 | 34 N 20 | 20 | 22 | 22| 22| 22 | 24 | 24| 24 | 24 | 26 | 26 | 26 | 26 | 28 | 28 | 28 | 28 | 30 | 30 | 30 |30 |32 | 32 | 32 |32 |34 |34 | 34 | 34
KG | 36.6|37.4|38.2| 39 |39.8|40.6 |41.4|42.2| 43 |43.8|44.6|45.4 |46.2| 47 |47.8|48.6]49.4]50.2| 51 |51.8|52.6|53.4|54.2] 55 | 55.8|56.6|57.4|58.2| 59 | 59.8 KG | 36.637.4|38.2] 39 |39.8|40.6|41.4|422| 43 |43.8|44.6|454|46.2| 47 |47.8|48.6(49.4]502| 51 |51.8|52.6|534|542| 65 | 558 56.6|57.4|58.2] 59 | 59.8
> o = 74 Cto
PR (2&927) ARA(Mm iz (mm) PM (sKtaz) cl(mm)
) L+71
205 SEAEES 175 205 SEAE
=285 HY 2-28x15 H7 75
= 5
R ©
- o
100 4-M8x20
136
169.2 169.2
1452
g‘ FS_O‘T 4-M5x10 i
s | il f j\m
= = g 5 == ” ! 5
i = il
170
170
125 M*200 A b5
‘ | e Al
do eo o
N=9 3,? EJ;;
N-M8x12 - = t-axis
- — ~ JHB
140 M*200 | A o
. SEAEZT 100 150 300 350 400 45 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550
e eV | o [ oy | e | e | B | it [ | e | o v ] o i B L e e T ) L gl ML 1480 530 70 s 1 100 1130]1180 1230|1260 1330 1380 1430 1480 1530 1550 ]1630] 1680 | 1750|1780 1830 1880[1930
480 | 530 | 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930| 980 [1030]1080]1130[1180]1230[1280]1330(1380 |1430|1480|1530| 1580|1630 | 1680 1730] 1780 1830] 18801930 A r00 om0 T200 T oo Tro0 120 T200 T 20 T 2001150 T200 T 50 T100 1150 [200 T 50 10T 160 2001 g0l 100 2e0 2001 50 100750 200 | 50 100 150
A 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100|150 | 200 | 50 | 100 150 | 200 | 50| 100] 150] 200| 50| 100| 150] 200| 50 | 100 150 | 200 | 50 | 100 | 150 - ST T T a1 21 21 21 21 31 31 sl sl al al al al 5] sl s] 5] 6] 6] 6| s8] 71 71 71 71 s 8
2 4 5] 6 6| 6] 7 7 8
'\l\/ll ; ; ; ; 8 &Z; : ; 130 1?3 wi 1?) 142 12 12 12 1i 1i 1i 12 | 16 1% 6] 16 | 16 1; 1; 18 2?) 20 N 6 | 6| 6| 6| 8| 8| 8| 8| 10]10/10]10) 12 12| 12| 12] 14| 14|14 |14 |16 | 16] 16116 | 16| 18 | 18 | 18| 20 | 20
8
13.8]14.6 | 15.4|16.1]16.9|17.7|18.5]19.2| 20 |20.8|21.6]22.3|23.1|23.9 | 24.7]25.4|26.2 | 27 |27.8 |28.6 |29.4] 30.2] 31 |31.8]32.6|33.4| 34.2] 35 |356.8
KG 12 [13.8]14.6 154|161 ]16.9|17.7|18.5|19.2| 20 |20.8|21.6|22.3|23.1|23.9| 24.7|25.4|26.2| 27 |27.8|28.6 |29.4| 30.2| 31 |31.8|32.6|33.4] 34.2| 35 |35.8 KG 12 15.4 7.7 19.2
1800 1850 1900 1950 2000 2050 2100 2150 2250 2300 2350 2400 2450 2500 2550 2600 2650 2700 2800 2850 2900 2950 3000
1600 1700 1850 1900 2000 2050 2100 2150 2200 2300 2350 2400 2450 2500 2550 2600 2650 2700 2750 28 2950 3000
= 2 600} 269 2800[7650]2400]e00 L [1980[2030[2080 |2130 [2180 |2230 2280 [2330 |2380 2430 2480 | 2530|2580 [2630 2680 [2730 2780 |2830 [2880 |2930 2980 |30303080[3130 | 3180|3230 32803330 3380|3430 |IWRRLA
L 1980|2030 2080 [2130 |2180 |2230 [2280 [2330 |2380 |2430 |2480 | 2530|2580 [2630 |2680 [2730 [2780 [2830 [2880 |2930 2980 |3030|3080[3130 |3180|3230(3280 3330 | 3380| 3430
A 200| 50 | 100 | 150 | 200 | 50 | 100 |150 | 200 | 50 | 100 | 160 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 |100 | 150 | 200 | 50 | 100 | 150 | 200| 50
A 200| 50 | 100 | 150 | 200 | 50 | 100 |150 |200 | 50 | 100 | 150 | 200 | 50 | 100 | 160 | 200 | 50 |100 | 150 | 200 | 50 |100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 i P R TR B B BT o T T e e e R e L e e e T L e
0 T0 |1 | 11 | 11 | 1] 12|12 | 12 | 12 |18 |13 |13 |13 |14 | 14 5 | 15 | 15
M 61 8191 9] 9] 9110 10 14 |14 |16 N 20 | 20 | 22 | 22| 22| 22 | 24 | 24| 24 | 24 | 26 | 26 | 26 | 26 | 28 | 28 | 28 | 28 | 30 | 30 |30 |30 |32 |32 | 32 |32 |34 |34 | 34 | 3a
N 20 | 20| 22 | 22 | 22| 22124 | 24 24 | 24 | 20 | 26 26 26 | 26126 | 28 | 28 | 30 | 30 |30 |0 |92 |92 32 37 184 |34 |34 ) 34 KG_ | 36.6/37.4|38.2] 39 |39.8]40.6|41.4|42.2| 43 | 43.8|44.6|45.4 |46.2| 47 |47.8|48.6]49.4|50.2] 51 |51.8|52.6|53.4|54.2| 65 | 55.8) 56.6|57.4| 58.2] 59 | 69.8
KG | 36.6/37.438.2] 39 |398|40.6|414|422| 43 |43.8|44.6|45.4|46.2] 47 |47.8|48.6|49.4]50.2| 51 |51.8|52.6|53.4|54.2| 55 | 558|56.6|57.4|58.2| 59 |59.8 6874198, =2[406 77 8% S Rad PR RS S|2e0)a9a o Sl R RS Al C| 9005741 %% :

095




JFB Al2|=

JREL HECZI0|H A|AE
Clean Room / Belt Type

HZ Al2l=

JFB110

A AN Ato|= 51mm
18 NEc i & Z|(JAEZ3 800mm /P 100
ZtiskE 3kg

A% TYPE - 38 TYPE

JFB65 JFB135
o A MOl 65mm "
418 Nagis & #HAEZ3 800mm /P 104 o o

AisE  3kg

HE=H TYPE s i TYPE

JFB100 JFB175

= i1 R Afo|= 106mm o
B 116 Nt 7 & FAEZ3 2550mm /P 106 STE
ANSEE 10kg

AlO|= 116mm
Z|tHAERZST 2550mm /P 110
Z|thS1E 10kg

AlO|= 135mm
ZHAERF 3050mm /P 114
Z|51= 25kg

ALO|= 175mm
ZHAEZ3 3050mm /P 118
Z|ti5kE 45kg

¥ &

lofe= &F

Gl




JFB - RIS WE Cajo[H A|AH AIYE

- oE|R 0 Hhs = -
T L 100 {300 | 450 | 600 | 800 | 900 [1050(1200| 1350 1500 1650 1800 1950 21002150 2300 2550 260027502800 2850 (2900[2950(3000(3050
100W 51 +0.04 9 40 3 1200 _
JFB50
100w 65 +0.04 12 40 3 1200 _
JFB65
ru
Ml
0]
i JFB100
JFB110
R wos | = * # 2000 .
JFBI135
B B ® * e
JFBI75

*1 zlch& == 2 (03|34 3,000 RPM 7|E

098




[JFB50 &> |

"EEEE

2HEZACW) 100
B2 2 = (mm) £0.08
2=(mm) 72
Z|CHA = (mm/sec) 3600
VIR ES 8 2

(ko) 2%
F2N) 42
AEZT(mm) 100~800 (50+2)
37|(mm) 50x54

H 5I185t5/2HE

90°

o

E4l(mm) EH(mm) STAEAI
>0 0° 90° £H 0° 90° MY 30(N)
3kg 250mm | 100mm 3kg 170mm 75mm MP 30(N)
MR 27(N)

JFB50 -100-PC-P -10-B-C5

M=

ol

e

1;22
JFB

JFB135

JFB175

mAEZS m ZEIR| m ZE{RITA m e m MR
100~800mm PW/| ACt 29| Argt 10 | 100W 29| Al
50mm E49] PM | St 20| -
I

- ra13s

100




| 2EI=2 Yxlol w2 HE

=
T

L

120 ERYCEE] 100
‘ 2- @3x6 H7 ‘
A
3 Ii SO ¥ 5
) ° ®
< 5o [[5}
18'002. 4-M4x11
002 vy
vy

50

60

51

N-M5x8.5
|
1H R, ORI Dog]ﬂ
s |7 M40 A |
[RAE 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 | 825 | 875 | 925 | 975 | 1025
A 75 85 95 65 75 85 95 65 75 85 95 65 75 85 95 65
M 3 4 5 7 8 9 10 | 12 13 | 14 | 15 | 17 18 | 19 | 20 | 21
N 4 5 6 8 9 10 1 | 13 14 | 15 | 16 | 18 19 | 20 | 21 | 22
KG 21| 22 | 23 | 24| 25 | 27| 28| 28 3 | 31| 32| 33| 34| 35| 36| 37
Py (GletEz) CER)(mm)
L
120 PEYEE 100
‘ 2- 23x6 H7 ‘
B, =
-~ = N o ~
v o < o w
[colo (%]
18002 . -
00 134 \ 4-Mdx11 PWE PME!
75
B FEICE
50
=
—m o
\ § o JFB65 —100-PC—P - 10 - B—C5
® o | <
‘ L
% [ af |l 1 HZSH
S| L]
51 Ctx=
N-M5x8.5 s
_ _ JFB
:@‘ég — Dogﬂ mAEZ23 m ZE R m ZEXIZAL m ZEIEE m AR
‘ ~ AT Do| Abat EE
‘ : = ‘ 100~800mm PW | Abzt 20| AFSS 10 | 100W 29| ALEt
| 80 M40 A 50mm ce| PM | 3jct 20| - JFB100
40 -
REAE 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 —_—n
75| -
L 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 | 825 | 875 | 925 | 975 | 1025
A 75 85 95 65 75 85 95 65 75 85 95 65 75 85 95 65
M 3 4 5 7 8 9 10 | 12 13 | 14 | 15 | 17 18 | 19 | 20 | 21
N 4 5 6 8 9 10 1 | 13 14 | 15 | 16 | 18 19 | 20 | 21 | 22
KG 2.1 2.2 2.3 2.4 2.5 2.7 2.8 2.8 3 3.1 3.2 3.3 3.4 3.5 3.6 3.7

102




=
TT

m 7|=77

= AlC| [ Xe)
SEESACW) 100 PV (adetei) L £42{(mm)
HHEH91 & (mm) +0.08 160 SEAE 100
30002
2|=(mm) 72 002 2-@33x6 H7
A
- I g .
Z|cH& = (mm/sec) 3600 | o
44
i} ) A 2 _
Fjotetsts | T= G| \a-tasa2
(ko) SN »
22N 42 ﬁ 5
— o
AEZF(mm) 100~800 (50+) I ‘ 9
——— n - ‘lﬂm
37|(mm) 65x 56 ‘ 5 5 Q[ =
65
=EEE 17 M*40 A
i W 5|25I5/2HE r T T -
rm Geo | ; | .
o - =4 = < [ g
TI% i N-4.50rM5 B
[EAE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
o ) . o L 360 | 410 | 460 | 510 | 560 | 610 | 660 | 710| 760 | 810 | 860 | 910 | 960 | 1010 | 1060
A 85 | 95 | 65 | 75 | 85 | 95 | 65 75 | 85 | 95 | 65 | 75 | 85 | 95 | 65
Et#mm) Selmm) - ABASA M 4 5 7 8 9 0] 12 | 13] 14| 15 | 17 | 18 | 19 | 20 [ 21
43 0° 90° eSS 0° 90° MY 53(N) N 5 10 | 11| 13| 14| 15| 16 | 18 | 19 | 20 | 21 | 22
MP 60(N)
3kg 450mm | 200mm 3kg | 340mm | 150mm VIR 75 0) KG 22| 23| 24| 25| 27| 28| 28| 3 | 31| 32| 33| 34| 35| 36/ 3.7
SCEE =i
L
160 faAERS 100
301002, 2-33x6 H7 ‘
002
i:8
= 8
44
60
1710 4-M5x12
o K_’.i
- G
pd
I ] 8
o
L——d (e}
s
‘ 117 M*40 A 65 oz
‘ ‘ 1-axis
JFB
© oy JFB50
\\ —d| 8|8 -
N-4.50rM5 o
S8AEES 100 150 200 250 300 350 400 450 500 550 600 650 700 750 = 800
L 360 | 410 | 460 | 510 | 560 | 610 | 660 | 710 | 760 | 810 | 860 | 910 | 960 | 1010 | 1060
A 85 | 95 | 65 | 75 | 85 | 95 | 65 75 | 85 | 95 | 65 | 75 | 85 | 95 | 65
M 4 5 7 8 9 10 | 12 13 | 14| 15 | 17 18 | 19 | 20 | 21
N 5 6 10 1 | 13 14 | 15 | 16 | 18 | 19 | 20 | 21 | 22
KG 22 | 23| 24| 25| 27| 28] 28] 3 | 31| 32| 33| 34| 35| 36/ 37

104




[JFB100 & |

m J|EqA

32 8

[

m F=3E

JFB100 -100-PC-P -10-B-C5

NEH
P m PEIQIR| m ZERIEAL m 2EISY m AR
Tloo-25  PL| B 20| Af 0] - 20| At}
T sommue | PR| ©F 20| 200w
T Pw| NE 40| 400w
NEE Trs| -

106

SEIEZACW) 200/ 400
HHEE A = (mm) +0.08
2[=(mm) 90
Z|HEE(mm/sec) 4500
e
Al forsts e 8
(kg) 25|
F2N) 61
AEZ3(mm) 100~2550 (50=48)
37|(mm) 100%105
W 5{2515/ZHE
90°
.
£42)(mm) £H2l(mm) SEAEA|
2 0° 90° =l 0° 90° MY 110(N)
5k 1400 600 5k 11 660 MP 110(N)
g mm mm g 00mm mm MR 120(N)
8kg 1100mm | 400mm 8kg 850mm | 450mm
10kg 1000mm | 350mm 10kg 800mm | 350mm

e
==

JFB
JFB50

JFB65
JFB100
JFB110

JFB135

JFB175




(EEe2) =#mm
L+56.5
212 SalETT 130
160 __4-Mb5x156
-
I— i B T
A © ~ ®
8 . . S .
- o \EB
N 2-@5x12 H7
>
s 104
50 4-M5x10
[
et~ IPE|
e )
ol - [,
102.1
N * N/ i l =
=TT o ©
o] o
+ + -
97 F¥M*200 | A ¥ |83
L 456 |506 |556 |606 |656 | 706 | 756 |806 |856 |906 | 956 |1006[1056 |1106 1156 [1206 |1256 [1306 [1356 [1406 1456 [1506 [1556 1606 [1656
A 200 | 50 [100 |[150 [200 | 50 | 100 |150 [200 | 50 | 100 [150 |200 | 50 [100 | 150 [200 | 50 |100 | 150 [200 | 50 |100 | 150 |200
M o l1 [ 1 [1 1ol ol2 23 [3[3 3 [a]alalals |5 |5 ][5][6 66686
N |46 6 | 616 |8 |8 ls |8 [10]10]10 10 [12 [12 |12 [14 |14 [14 |14 [14 |16 |16 | 16 | 16
KG 8.3 [8.73]9.15 |9.57 | 10 [10.42[10.84[11.26[11.69]12.11[12.53[12.96[13.38] 13.8 [14.23[14.65[15.07]15.4915.92[16.34[16.76[17.18 17.6 |18.02[18.44
L 1706 [1756 [1806 [1856 [1906 [1956 2006 [2056 [2106 |2156 |2206 |2256 [2306 2356 [2406 [ 2456|2506 | 2556|2606 | 2656|2706 |2756 | 2806|2856 |2906
A 50 | 100 |150 |200 | 50 | 100 | 150 |200 | 50 | 100 | 150 |200 | 50 |100 |150 | 200 | 50 | 100 | 150 |200 | 50 | 100 |150 |200 | 50
M | 717 17 17188l gls 99 [9 9 [10]10/]107]10][11 [11 [11 [11[12 [12 [12 [12 [13
N 18 |18 | 18 |18 [ 20 | 20 [ 20 [ 20 | 22 [ 22 | 22 [ 22 |24 |24 [ 24 | 24 |26 [26 |26 [26 |28 |28 |28 | 28 | 30
KG__ [18.86[19.28]19.7 [19.12[20.54[20.96]21.38[ 21.8 [22.22[22.64[23.06[23.48] 23.9 [24.3224.74[25.16[25.58] 26 |24.92[26.84[27.26]27.68| 28.1 |28.5228.94
(RE97) £E2)(mm)
1
©
©
o
104
80
o g
]| o
102.1
i N= JJ/ ﬁgN—_
- =
N =
A ¥ [ s
L 456 |506 |556 |606 |656 | 706 | 756 |806 |856 |906 | 956 [1006[1056 |1106 [1156 |1206 1256 1306 1356 [1406 [1456 [1506 [1556 1606 [1656
A 200 [ 50 [100 [150 [200 | 50 |100 [150 [200 | 50 |100 [150 [200 | 50 [100 [ 150 [200 [ 50 [100 [ 150 [200 | 50 [100 | 150 [200
M o1 11 1112212213 ]3[3 3 [a4]alalals |55 |56 |6 |6]6
N 4 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 14 14 14 14 14 16 16 16 16
KG 83 [8.73]9.15 |9.57 | 10 [10.42[10.84[11.26(11.69[12.11[12.53[12.96[13.38] 13.8 |14.23]14.65[15.07]15.49]15.92[16.34[16.76[17.18 17.6 [18.02[18.44
L 1706 |1756 [1806 [1856 [1906 |1956 [2006 |[2056 [2106 [2156 [2206 |2256 |2306 |2356 [2406 [2456 2506|2556 2606 |2656(2706|2756|2806|2856|2906
A 50 | 100 |150 |200 | 50 | 100 | 150 |200 | 50 | 100 | 150 |200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 |200 | 50 | 100 |150 | 200 | 50
M 7 7 7 7 8 8 8 8 9 9 9 9 10 10 10 10 11 11 11 11 12 12 12 12 13
N 18 |18 | 18 | 18 | 20 | 20 | 20 [ 20 [ 22 |22 | 22 | 22 | 24 |24 | 24 | 24 |26 |26 |26 | 26 |28 |28 | 28 | 28 | 30
KG __ [18.86[19.28[19.7 [19.12[20.54]20.96[21.38] 21.8 [22.22|22.64[23.06(23.48] 23.9|24.32[24.74/25.16/25.58] 26 |24.9226.84]27.26]27.68] 28.1 |28.52[28.94

(ActZ) ) EH2{(mm)
212 REAE 130
160 _ 4-M5x15
A
% e 5
o
C LJ
= P ‘
— 2-@5x12 H7
- 104
4-M5x10
irm] W
o 8 oo
I .
o
©y
102.1
M NI i -
N—@55 N
N 2
97 P® M*200 | A * |83
L 456 |506 |556 |606 |656 |706 |756 |806 |856 |906 | 956 |1006[1056 [1106 |1156 [1206 |1256 [1306 [1356 [1406 [1456 [1506 1556 [1606 |1656
A 200 | 50 [100 [150 [200 | 50 [100 150 [200 | 50 [100 [150 [200 | 50 [100 |160 [200 | 50 [100 [150 [200 | 650 [100 |150 [200
M 0 |1 1 1 1 2 2 | 2 2 | 3 3 |3 4 | a4 | 4 | 4 5 | 5 5 | 5 | 6 | 6 6 | 6
N | 4|6 |6 |6 |6 |8 |8 |8 |8 |1 [10]10 12 112 [ 12 |14 [14 [14 [14 |14 [16 |16 | 16 | 16
KG 8.3 [8.73 19.15 |9.57 | 10 [10.42[10.8411.26[11.69]12.11]12.53[12.96|13.38[ 13.8 |14.23|14.65[16.07/15.49[15.92[16.3416.76[17.18] 17.6 [18.02[18.44
L 1706 1756 1806 |1856 [1906 1956 [2006 [2056 [2106 [2156 [2206 [2256 [2306 |2356 |2406 [2456|2506 [2556 2606 | 2656|2706 |2756 2806|2856 2906
A 50 [100 150 [200 | 50 [100 [150 [200 | 50 [100 | 150 [200 100 |150 [200 | 50 [100 [150 [200 | 50 [100 [150 [200 | 50
M | 7 |7 |7 |7 |8 |8 |88 |9 |9 |99 10 [ 10 10 [11 11 [11 [ 11 [12 [12 [12 [ 12 [13
N 18 [ 18 |18 | 18 [ 20 [ 20 | 20 [ 20 | 22 [ 22 [ 22 | 22 24 |24 | 24 [ 26 [26 [ 26 |26 [28 |28 [ 28 | 28 |30
KG 18.86[19.28]19.7 [19.12]20.54120.96[21.38] 21.8 [22.22]22.64/23.06[23.48| 23.9|24.32[24.74]25.16/25.58| 26 |24.92]26.84/27.26[27.68| 28.1 |28.52[28.94
(sitZ) . £tl(mm)
212 SEAEEZS
1160 _ 4-Msx15 130
B
L s
N ’
© ®
i N B
2-@5x12 H7
104 o
i
8 50 4-M5x10 ‘ ”
-
jram| N
oo &
L] I
102.1
=y N * 55/ i —|
- =
L] ° + + A
[ 97 [FFM*200 A ¥ | 83
L 456 |506 |556 |606 |656 |706 | 756 |806 |856 |906 | 956 |1006[1056 [1106 /1156 [1206 |1256 [1306 [1356 [1406 [1456 [1506 |1556 [1606 |1656
A 200 | 50 [100 [150 [200 | 50 [100 |150 [200 | 50 |100 [150 50 [100 |150 [200 | 50 [100 [150 [200 | 50 [100 |150 [200
M 0 | 1 1 1 1 2 2 |2 2 | 3 3 |3 4 | 4 | 4 4 |5 |5 5 | 5 | 6 | 6 6 | 6
N | 4|6 |6 |6 |6 |8 |8 |8 |8 |10][10]10 12 [ 12 [ 12 [ 14 [14 [14 [14 |14 [16 [ 16 | 16 | 16
KG 8.3 |8.73 [9.15 |9.57 | 10 [10.42[10.84/11.26[11.69[12.11]12.53[12.96|13.38]13.8 [14.23]14.65[156.07/15.49[16.92/16.3416.76[17.18 17.6 [18.02[18.44
L 1706 [1756 [1806 [1856 [1906 1956 [2006 [2056 [2106 [2156 [2206 [2256 [2306 [2356 [2406 [2456|2506 [2556 | 2606 | 2656|2706 |2756 [2806 |28562906
A 50 [ 100 |150 [200 [ 50 [100 [150 [200 | 50 [100 | 150 [200 100 [150 [200 [ 50 [100 [150 [200 [ 50 |100 [150 [200 | 50
M | 7|7 7 |7 |8 | 8|8 l8 |9 |9 |99 10 [ 10 10 [11 J11 [11 [ 11 [12 [12 [12 [ 12 [13
N 18 [ 18 | 18 [ 18 | 20 [ 20 | 20 [ 20 | 22 [ 22 [ 22 [ 22 24 |24 [ 24 [ 26 [26 [ 26 |26 [28 |28 [28 | 28 |30
KG 18.86[19.28]19.7 [19.1220.54120.96]21.38] 21.8 [22.22]22.64[23.06[23.48] 23.9|24.32[24.74]25.16/25.58] 26 _|24.92|26.84/27.26[27.68| 28.1 |28.52[28.94




[JFB110 & |

m /|=57

PLE

m ZE3c

JFB110-100-PC-P -10-B-C5

HZH

BAEZT
100~2550mm
50mm £

110

m ZEX| W ZER|ZTAL mZEEE | AN
AEE 2o/ Afg! 0] - 2o/ Af3!
PR| o= 20| 200w

pw/| At 40| 400w

M| s 75| -

2HEZACW) 400
HHE M9 = (mm) *0.08
2|=(mm) 90,100
Z|HAE(mm/sec) 4500
R
e IS +8 19
(kg) X
Z2N) 61
AEEa(mm) 100~2550 (505"'?")
3A7|(mm) 116x91
H {255 /DHE
90°
0 we
£Hl(mm) =H2|(mm) ATARA|
>4 0° 90° =H 0° 90° MY 110(N)
5k 1400 5k 11 660 MP 110(N)
g mm | 600mm g 00mm mm MR 120(N)
8kg | 1100mm | 400mm 8kg 850mm | 450mm
10kg 1000mm | 350mm 10kg 800mm | 350mm

e
==

JFB
JFB50

JFB65
JFB100
JFB110

JFB135

JFB175




(==HZ) £k2)(mm)
L+71
210 SSAEZT 130
160] 4-M5x15 ‘
Q ] 5:
| & A 1
= ° )
< o
- o
— o @
F_% [
2-@5x12 H7
104
80
r
- o1
110
7 =
N-M5 ﬁwﬁ
@<
A E 83
L 476 |526 |576 |626 |676 |726 |776 |826 |876 | 926 | 976 |1026[1076 1126 [1176 |1226 1276 {1326 |1376 [1426 [1476 [1526 [1576 [1626 [1676
A 50 100 [ 150 |200 | 50 |100 |150 [200 | 50 100 | 150 | 200 | 50 100 [ 150 | 200 | 50 100 | 150 | 200 | 50 [ 100 | 150 | 200 | 50
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 14 14 14 14 14 16 16 16 16 18
KG 8.3 |8.73[9.15 |9.57 | 10 [10.42|10.84[11.26]11.69(12.11{12.53/12.96|13.38]13.8 [14.23|14.65/15.07|15.49/15.92/16.34/16.76(17.18/ 17.6 [18.02[18.44
L 1726 1776 |1826 1876 [1926 [1976 [2026 |2076 [2126 |2176 |2226 |2276 |2326 [2376 |2426 |2476 (2526|2576 [2626|2676|2726|2776 2826 (2876|2926
A 100 | 150 [ 200 | 50 | 100 | 150 [200 | 50 | 100 | 150 {200 | 50 100 | 150 | 200 | 50 100 | 150 | 200 | 50 | 100 [150 | 200 | 50 | 100
M 7 7 7 8 8 8 8 9 9 9 9 10 10 10 10 | 11 11 11 11 12 12 12 12 13 13
N 18 18 18 20 20 | 20 | 20 22 22 22 | 22 24 24 24 24 | 26 26 26 26 | 28 28 28 28 | 30 30
KG 18.86(19.28]19.7 [19.12]20.54/20.96[21.38( 21.8 |22.22|22.64]23.06(23.48| 23.9 [24.32[24.74/25.16[25.68| 26 |24.92|26.84|27.26[27.68| 28.1 |28.52[28.94
(2&5937) £k2|(mm)
L+71
210 CEPN=EE] 130
160
50 4-M5x15
.
3 il
0 ° )
< N
= S
o 0]® @
i | F
1%
(0 2-@5x12 H7
104
8 &0 4-M5x10 80
[ 1
o) |
110
+ + =
/7
N-M5 = ol
@]
+ +
o7 ¥ M*200 A T 1 s
L 476 |526 |576 |626 |676 |726 |776 |826 |876 | 926 |976 |1026 1076 [1126 [1176 [1226 1276 {1326 |1376 [1426 [1476 [1526 [1576 [1626 [1676
A 50 100 [ 150 1200 | 50 |100 [ 150 [200 | 50 100 | 150 | 200 | 50 100 [ 150 | 200 | 50 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7
N 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 | 14 14 14 14 | 14 16 16 16 16 18
KG 8.3 |8.73(9.15[9.57 | 10 [10.42|10.84[11.26]11.69(12.11]{12.53/12.96|13.38/13.8 [14.23|14.65/15.07|15.49|15.92/16.34]|16.76[17.18/ 17.6 [18.02[18.44
L 1726 [1776 |1826 1876 [1926 [1976 [2026 |2076 [2126 |2176 [2226 |2276(2326 [2376 |2426 |2476 (2526|2576 [2626|2676|2726|2776 2826 2876|2926
A 100 {150 | 200 | 50 | 100 | 150 [200 | 50 | 100 | 150 |200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 [ 150 | 200 | 50 | 100
M 7 7 7 8 8 8 8 9 9 9 9 10 10 10 10 11 11 11 11 12 12 12 12 13 13
N 18 18 18 20 20 | 20 | 20 22 22 22 | 22 24 24 24 24 | 26 26 26 26 | 28 28 28 28 | 30 30
KG 18.86(19.28]19.7 [19.12]20.54/20.96[21.38( 21.8 |22.22|22.64]23.06(23.48| 23.9 [24.32[24.74/25.16[25.568| 26 |24.92|26.84|27.26[27.68| 28.1 |28.52[28.94

ATHAZR) CH)(mm)
L
0 FEAETT T30
160] 4-Mbx15 ‘
~ A
e i
< P . ®
= o
B o
1
1 2-@5x12 H7
104
4-M5x10 F 80 "
d
j ‘(‘L@ oo .@a
110
- =
N=M5/ Eﬁmw
s
N
A ¥ |83
L 476 |526 |576 |626 |676 |726 | 776 |826 |876 | 926 |976 |1026 1076 (1126 1176 [1226 [1276 [1326 [1376 [1426 [1476 |1526 [1576 [1626 |1676
A 50 | 100|150 |200 | 50 [100 | 150 |200 | 50 [100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7
N 6 6 6 6 8 8 8 8 |10 | 10 | 10 |10 |12 | 12 | 12 |14 |14 |14 | 14 |14 |16 | 16 | 16 | 16 | 18
KG 8.3 [8.7319.15 |9.567 | 10 10.42]10.84[11.26/11.69]12.11]12.53[12.96[13.38| 13.8 |14.23[14.65/15.07/15.49]15.92/16.34]16.76]17.18/17.6 [18.02/18.44
L 1726 1776 [1826 |1876 1926 (1976 |2026 [2076 2126 |2176 |2226 [2276 |2326 |2376 [2426 |2476|2526 (2576|2626 |2676|2726|2776|2826|2876|2926
A 100 | 150 | 200 | 50 | 100 | 150 [200 | 50 | 100 | 150 |200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 |150 | 200 | 50 | 100
M 7 7 7 8 8 8 8 9 9 9 9 10 10 10 10 11 11 11 11 12 12 12 12 13 13
N 18 18 18 20 20 | 20 20 22 22 22 22 24 24 24 24 | 26 26 26 26 | 28 28 28 28 | 30 30
KG 18.86(19.28(19.7 [19.12]20.54/20.96[21.38]21.8 |22.22|22.64{23.06/23.48| 23.9 24.32|24.74/25.16|25.58| 26 |24.92]26.84|27.26/27.68| 28.1 |28.52|28.94
(i) £tl(mm)
L
210 " SEAEZT ‘ T30
16! 4-M5x15
S =l .
W*
< g L]
b I &
o o
[
2-25x12 H7
104
i il
= =
o “lrra ‘o ot &
) i
110
+ + 7
VY4 ol
/]
+ +
97 ¥ Mm*200 A T3
L 476 |526 |576 |626 |676 |726 |776 |826 |876 | 926 |976 [1026[1076 [1126 [1176 |1226 [1276 {1326 |1376 |1426 [1476 [1526 1576 |[1626 [1676
A 50 | 100|150 |200 | 50 [100 | 150 |200 | 50 [100 | 150 | 200 | 50 [ 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7
N 6 6 6 6 8 8 8 8 |10 | 10 [ 10 [ 10 [ 12 [ 12 | 12 |14 |14 |14 | 14 |14 |16 | 16 | 16 | 16 | 18
KG 8.3 |8.73 [9.15 ]9.57 | 10 |10.42(10.84[11.26(11.69|12.11[12.53[12.96|13.38]13.8 |14.23|14.65/15.07[15.49|15.92(16.34|16.76(17.18/ 17.6 [18.02]18.44
L 1726 1776 [1826 (1876 1926 |1976 [2026 |2076 [2126 |2176 |2226 |2276 |2326 |2376 |2426 |2476|2526 2576|2626 [2676|2726|2776|2826 (2876|2926
A 100 | 150 | 200 | 50 | 100 | 150 [200 | 50 | 100 | 150 |200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 |150 | 200 | 50 | 100
M 7 7 7 8 8 8 8 9 9 9 9 [10 |10 |10 [ 10 [ 11 |11 [ 11 [ 11 |12 |12 |12 | 12 |13 | 13
N 18 18 18 20 20 | 20 20 22 22 22 22 24 24 24 24 | 26 26 26 26 | 28 28 28 28 | 30 30
KG 18.86[19.28]19.7 [19.12|20.54[20.96(21.38]21.8 [22.22|22.64]23.06(23.48| 23.9|24.32[24.74(25.16/25.58| 26 |24.92]26.84|27.26[27.68| 28.1 |28.5228.94




x|C]
[ga 3050m

| Pl

- 2

- /

ZEEHACW) 400
B A = (mm) +0.08
2I=(mm) 100, 120
Z| & = (mm/sec) 6000
o
At etels +8 15
(ko) 2%
F2N) 200
AEZT(mm) 100~3050 (50H%)
37|(mm) 135%92
B 5I85I5/2HE
90°
E#ei(mm) Solmm)  ABABAI
>4 0° 90° ZH 0° 90° MY 551(N)
10k 2700 1050 10k 2000 1070 MP 552(N)
g mm mm g mm mm MR 485(N)
20kg 2100mm | 650mm 20kg 1500mm | 600mm
25kg 1700mm | 500mm 25kg 1150mm | 410mm

PR

e PME

NEgH
mAEZS m 2ER| B ZEHIEAL m ZEE R ISEN
100~3050mm PL| x5 20| A5t 0] - 20| At
" sommoe | PR| 9 20| 200w
T ew| A 40| s00w
PM | it 5| -

14

e
==

JFB
JFB50

JFB65

JFB100
JFB110
JFB135

JFB175




Z017) £E2)(mm) (Atctoizd) Etl(mm)

o
L+74,5 L
SEAEZT _
o 220 TR 175 220 SEAEZT 175
¥ 2-6x15 H7 o
- A-M6x15 2-@6x156 H7
N 4-M6x15
. I
© > B - 19
™ O] e
3 = i 9 8 ‘
F_4 =+ - ° 2 o
"Q“Ei’_—\ + ‘
100 Al "
190 100
119 190
LY
o 7 50 4-M5x10
5 Ny ) [
q - !
: B ~
135 S FD
o
2Bl £Ba RN el
+ + + + + + + o+
M M ©| Lo
g8 g8
= NV 8 + 5 &+ 22)
‘:I x —
[72] M*200 | A] 100 |72 ] M200  N=MBx10~ [ A 100
L 498 | 548 | 598 | 648 | 698 | 748 | 798 | 848 | 898 | 948 998 [1048|1098(1148[1198|1248| 1298| 1348|1398 1448|1498(1548 [ 1598 | 1648(1698|1748|1798| 1848| 1898(1948 L 498 | 548 | 598 | 648 | 698 | 748 | 798 | 848 | 898 | 948 998 [1048]1098]1148|1198|1248| 1298| 1348|1398|1448] 1498|1548 | 1598| 1648 1698|1748|1798| 1848] 1898[1948
A 50 | 100 | 150 | 200 | 50 | 100|150 | 200 | 50 | 100|150 | 200 | 50 | 100 | 150 | 200 | 50 | 100| 160| 200| 50| 100| 150| 200| 50 | 100 | 150 | 200 | 50 | 100 A 50 | 100 | 150 | 200 | 50 | 100|150 | 200 | 50 | 100|150 | 200 | 50 | 100 | 150 | 200 | 50 | 100| 160| 200| 50| 100| 150| 200| 50 | 100 | 150 | 200 | 50 | 100
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7 7 7 7 8 8 M 1 1 1 1 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7 7 7 7 8 8
N 6| 6| 6 6| 8| 8 s | 8| 101010 [ 10] 12 12| 12| 12 14| 14|14 (14 [16 | 16| 16| 16| 16| 18 | 18| 18| 20 | 20 N 6| 6| 6 6| 8| 8 s | s8] 101010 10]12]12] 12] 12 1a] 14a]l1a]14 16 ] 16| 16] 16] 16| 18| 18] 18] 20| 20
KG 11.6| 12 |12.5] 13 [13.5] 14 |14.4] 15 [15.4| 16 |16.4]16.9]17.4]17.9/18.4]18.9] 19.4]19.9/20.3[20.9]21.5[22.1]22.7 [23.3|23.9| 24.5/25.1|25.7| 26.3| 26.9 KG 11.6| 12 |12.5] 13 [13.5] 14 |14.4] 15 [15.4| 16 [16.4]16.9]17.4]17.9/18.4]18.9] 19.4|19.9/20.3[20.9]21.5[22.1]22.7 [23.3|23.9| 24.5/25.1]25.7| 26.3| 26.9
L 1998 (2048 [2098 [2148 [2198 [2248 2298 [2348 [2398 [2448 P498 p548 [2598 [2648 |2698 [2748 2798 2848 [2898 | 2948 2998|3048 3098|3148 |3198[3248 3298|3348 | 3398|3448 L 1998 (2048 [2098 [2148 [2198 [2248 2298 [2348 [2398 [2448 498 p548 [2598 [2648 |2698 [2748 (2798 [2848 [2898 | 2948 [2998 |3048 3098|3148 |3198[3248 3298|3348 | 3398|3448
A 150 | 200 | 50 [100 |150 [200 | 50 [100 [150 [200 |50 [100 [150 | 200 | 50 [100 [150 [200 | 50 [100 [150 [200 | 50 [100 [150 [200 | 50 [100 |[150 | 200 A 150 | 200 | 50 [100 [150 [200 [ 50 [100 [150 [200 [ 50 [100 [150 [ 200 | 50 [100 [150 [200 [ 50 [100 [150 200 | 50 [100 [150 [200 | 50 [100 |150 | 200
M 8 8| 9 9 9 910 [1ofoto [t il ar 21212121313 13 [13 [14 [14 [ 12 [14 [15 [15 [ 15 | 15 M 8 8 | 9 9 9 9 10 [ 100 o[22 2] 2131313 [13 [14 [14 14 [14 |15 |15 [ 15 | 15
N 20 20 | 22 [ 22 22| 22|24 | 24| 24 | 24 | 26 | 26 | 26 | 26 | 28 | 28 | 28 | 28 | 30 [ 30 [30 [30 [32 [32 |32 |32 |34 [34 [34 | 34 N 20 20|22 | 22| 22 2224 [ 242424 | 26| 26| 26 [26 | 2828 [ 28] 28|30 |30 [30 [30 [32 [32 [32 [32 [34 |34 |34 [ 34
KG 27.5|28.1/28.7[29.3 [29.9[30.5[31.1]31.7]32.3 |32.9/33.5[34.1]34.7[35.335.9]/36.537.1|37.7|38.3[38.939.540.1] 40.7[41.3] 41.5]42.5| 43.1] 43.7] 44.3]44.9 KG 27.5|28.1/28.7(29.3 [29.9[30.5[31.1]31.7]32.3 |32.9|33.5[34.1[34.7|35.3|35.9(/36.537.1[37.7|38.338.939.540.1] 40.7[41.3| 41.5|42.5| 43.1[ 43.7| 44.3]44.9
O = o o
(2=017) /i) = #lmm)
L+74.5 L
220 FRAEET 175 220 2RAERT 175
2-26x15 H7 «© 2-26x15 H7
4 4-M6x15 S 4-M6xT5
A
B2 A [}F - = i
] N 8 ° 8 I S
P — - . ® ®
i = ° e i F_4 + I
= hd PR =
oo t———— 7 o 84
~ 84 100
- 100 190
190 119
7 50 4-M5x10 806
119
80.6 1 '
] 5 1 o
an| o)
O o H ]
}ED 1 q:ujm E J
. °
: B
135
135
oRa el =Bs
Pa— i + + + 4+
83 88
T ; =
+ +
T =T e = 72 M0 N=M6xI0 )\A o0 |
72 M*200 =Iibx | A ] 100
L 498 | 548 | 598 | 648 | 698 | 748 | 798 | 848 | 898 | 948| 998 1048|1098 1148|1198 | 1248|1298 1348|1398 |1448| 1498|1548 | 1598 1648|1698 |1748| 1798|1848 1898|1948 L 498 | 548 |598 | 648 | 698 | 748 | 798 | 848 | 898 | 948| 998 |1048|1098|1148|1198|1248| 1298| 1348|1398 |1448| 1498|1548 | 1598| 1648|1698 | 1748|1798|1848| 1898|1948
A 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100|150 [ 200 | 50 | 100 | 150 | 200 | 50 | 100| 150| 200| 50| 100 | 150| 200 | 50 | 100 | 150 | 200 | 50 | 100 A 50 | 100 | 150 [ 200 | 50 | 100|150 | 200 | 50 | 100|150 [200 | 50 | 100 | 150 | 200 | 50 | 100| 150{ 200| 50| 100 | 150| 200 | 50 | 100 | 150 [ 200 | 50 | 100
M | 1|11 1|2} 2] 22| 3| 3| 3| 3| 4| 4| 4| 4| 5| 5| 5| 6| 6| 6| 6| 6| 7| 7| 7| 7| 8| 8 M |+ 1| 1| 1|2} 2| 2| 2|3| 3| 3| 3| 4| 4| 4| 4| 5| 5| 5| 5| 6| 6| 6| 6| 7| 7| 7| 7| 8] 8
N 6 | 6| 6 6 8 | 8 s | 8| 10| 1010 [10] 12|12 12| 12| 14| 141414 [16 | 16| 16| 16| 16|18 | 18| 18| 20| 20 N 6 6 | 6 6| 8| 8 8 | 8 | 10| 1010 [ 10| 12|12 [ 12] 12| 14| 14|14 [14 |16 | 16| 16| 16| 16| 18 | 18| 18| 20| 20
KG 11.6] 12 |12.5] 13 [13.5] 14 [14.4] 15 [15.4] 16 |16.4]16.9]17.4]17.9]18.4[18.9]19.4]19.9/20.320.9]21.5|22.1|22.7[23.3]23.9] 24.5/ 25.1|25.7| 26.3| 26.9 KG 11.6] 12 [12.5] 13 [13.6] 14 [14.4] 15 [15.4] 16 [16.4[16.9]/17.4]17.9]18.4[18.9]19.4] 19.9]20.3 [ 20.9]21.5|22.1]22.7 [238.3] 23.9] 24.5) 25.1|25.7 | 26.3] 26.9
L 19982048 |2098 [2148 |2198 |2248 2298 |2348 |2398 |2448 2498 D548 2598 |2648 |2698 |2748 |2798 2848 2898 [2948 [2998 3048 3098|3148 |3198|3248|3298 [3348 |3398| 3448 L 1998|2048 [2098 2148 2198 22482298 |2348 |2398 |2448 2498 D548 (2598 |2648(2698 |2748 [2798 [2848 [2898 (2948|2998 |3048|3098(3148 |3198|3248 3298 (3348 | 3398|3448
A 150 | 200 | 50 [100 [150 [200 [ 50 [100 [150 [200 | 50 [100 [150 [200 | 50 [100 [150 [200 | 50 [100 [150 [200 | 50 [100 [150 [200 | 50 [100 |150 | 200 A 150 | 200 | 50 |100 [150 [200 [ 50 [100 [150 [200 [ 50 [100 [150 | 200 | 50 [100 [150 [200 [ 50 [100 [150 [200 | 50 [100 [160 [200 | 50 [100 |150 | 200
M 8 8| 9 9 9 g 10 [ 101010 1v ] 2121212131313 [13 [14 [14 14 [1a |15 |15 [15 | 15 M 8 8 | 9 9 9 9|10 [ 100 o] i 2f2 1212131313 [13 [14 [14 [ 14 [14 [15 |15 [ 15 | 15
N 20 20| 22 | 22| 22| 22 |24 | 2424 [24 | 26| 26| 26|26 | 28] 28 [ 28 [ 28 |30 |30 [30 [30 |32 [32 [32 [32 |34 |34 |34 ] 34 N 20 20|22 | 22| 22| 22|24 | 2424 |24 | 26| 26| 26|26 | 28|28 [ 28|28 |30 |30 [30 [30 [32 [32 [32 |32 [34 |34 [34 ] 34
KG 27.5|28.1]28.7(29.3 [29.9(30.5[31.1] 31.7|32.3 [32.9(33.5[34.1[34.7|36.3(35.9/36.5[37.1[37.7(38.3(38.939.5|40.1]40.7]41.3| 41.5|42.5] 43.1[ 43.7| 44.3]44.9 KG 27.5/28.1[28.7[29.3 | 29.9[30.56[31.1]31.7|32.3 [32.9[33.5 [34.1|34.7|35.3[35.9/36.5[37.1]37.7[38.3[38.9|39.5/40.1[40.7]41.3|41.5]42.5[ 43.1[43.7| 44.3/44.9




EEEE

2HEZACW) 750
B U (mm) *0.08
2=(mm) 120
Z|CHEE(mm/sec) 6000
e
s | T8 45
(ka) 2%
F2N) 204
AEZ3(mm) 100~3050 (50=H)
37|(mm) 170x107
W 525/ HE
90°
£4{(mm) Siomm) ABAEAI
RS 0° 90° el 0° 90° MY 1032(N)
B3 . MP 1034(N)
3050mm 2000mm/3 EE‘I%%F 750W = 30mm 10kg 3000mm | 1300mm 10kg 2300mm| 1300mm MR 908(N)
20kg 2300mm | 800mm 20kg 1750mm| 800mm
— 30kg 2000mm | 600mm 30kg 1350mm| 600mm
- 45kg | 900mm | 290mm 45kg | 610mm | 290mm

MEZdH

553

1-axis

_ _ JFB
[ PN=CE] m ZER m ZEFZA m ZEHEY m HAMSIR|
100~4050mm PL| Z& 29| Aret 10| - 29| Aret
50mm cte| PR | & 20| 200W
Pw| et 40| 400w

PM | Sict 75 -

Puloe i

118




=024 o
(==97) £42(mm)
L+74.5
250 SRAEZS
2-@8x15 H7 175
[ .
i R4
S 3
- ¢ ek
y N Bl
r ; Y N
0 ﬁg 4-M8x20 T
e}
154
13.5 50 4-M5x10 f-—Bﬁ_'\
f 13 f T
' | [To) !
| —— e s 8 s
31 ﬂ# v ©
140
170
+ + ¥
gR
[ :
N-M8x12
156 ‘ M*200 A 120
L 526 | 576 | 626 | 676 | 726 | 776 | 826 | 876 | 926 | 976[1026[1076|1126[1176]1226 | 1276| 1326] 1376|1426 1476 1526|1576 | 162616761726 1776|1826 1876]1926[1976
A 50 | 100 [ 150 | 200 [ 50 | 100|150 [ 200 | 50 | 100150 [200 | 60 [ 100 150 [ 200 | 50 [ 100] 150] 200] 50| 100 | 150| 200| 50 | 100 [ 150 | 200 | 50 | 100
M 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 5 5| & 5 6 6| 6 6| 71 7 7 7 8| 8
N 6 | 6| 6| 6| 8| 8| 8| 8| 10]10]10]|10]12]12 12| 14a] 14l 1a]14 16| 16] 16| 16] 16| 18] 18] 18] 20| 20
KG 15 [16.8[17.6]18.4[19.1]19.9]20.7]21.5]22.2] 23 [23.8]24.6]25.3]26.1]26.9]27.7] 28.4]29.2] 30 [30.8[31.6[32.4[33.2] 34 [34.8]35.6]/36.4[37.2] 358 [388
L 20262076 [2126 [2176 [2226 [2276 [2326 [2376 [2426 [2476 | 2526(2576 [2626 [2676 [2726 [2776 2826 [2876 [2926 [2976 [3026 [3076 3126|3176 | 3226|3276 [3326 3376 |3426]3476
A 150 | 200 | 50 |100 |150 |200 | 50 |100 |160 |200 | 50 |100 |150 | 200 100 150 | 200 | 50 100 |150 |200 | 60 [100 |150 |200 | 60 |100 | 150 | 200
M 8 8 9 9 9 9 10 10 10 10 11 M 11 11 12 12 12 13 13 13 13 14 14 14 14 15 15 15 15
N 20 | 20 |22 [ 22| 22| 22|24 | 24| 24 |24 | 26| 26| 26 | 26 28 | 28 | 28 | 30 |30 |30 [30 [32 [ 32 |32 [32 [34 [34 |34 | 34
KG | 39.6|40.4|41.2| 42 |42.8|43.6|44.4| 45.2] 46 |46.8|47.6|484|49.2| 50 |50.8|51.6|62.4|53.2| 54 |54.8|556|56.4|57.2| 58 |58.8|59.6|60.4|61.2| 62 |62.8
O = Cto
(*&597) CH}(mm)
L+74.6
250 SEAEZT 175
[fe]
e 2-@8x15 H7
Rl o N
- |
o o
e ™
ULy
? ﬁo ‘T #* #
TE il
124 4-M8x20
154
15 50 4-Mbx10
f ] wly
= e Nen] 339
[ — v
140
170
‘ H + + D
+  +
QIR
+ *
N-M8x12
156 M*200 A 120
L 526 | 576 | 626 | 676 | 726 | 776 | 826 | 876 | 926 | 976]1026[1076|1126]1176|1226|1276] 1326]1376| 1426|1476 1526]1576 | 1626 1676|1726 1776] 1826| 1876] 1926|1976
A 50 [100 | 150 [ 200 | 50 | 100 [ 150 [200 | 50 | 100150 | 200 | 50 | 100 200 | 50 | 100] 150 200| 50| 100] 150 200| 50 | 100|150 | 200 | 60 | 100
M | i i v 1] 2] 2] 22| 3| 3| 3| 3|44 4| 5| 5| 5| 5| 6| 6| 6| 6| 7| 7| 7| 7| 8] 8
N 6 | 6| 6| 6| 8| 8| 8| s 10]10]10]10]12]12 12| 1a] 141414 16| 16] 16| 16] 16| 18] 18] 18] 20| 20
KG 15 16.8]17.6]18.4]19.1]19.9]20.7][21.5|22.2] 23 |23.8]24.6]25.3] 26.1 27.7|28.4]29.2| 30 |30.8]31.6|324(33.2| 34 |34.8|35.636.4|37.2| 38 | 38.8
L 2026 [2076 [2126 [2176 [2226 [2276 2326 [2376 [2426 [2476 | 2526[2576 [2626 2676 [2726 [2776 2826 [2876 |2926 [2976 [3026 |3076 3126|3176 |3226 3276|3326 3376 |3426/3476
A 150 | 200 | 50 [100 |150 [200 |50 [100 [150 [200 | 50 |100 [150 | 200 100 | 150 | 200 | 50 |100 |150 | 200 | 50 |100 |150 |200 | 50 |100 | 150 | 200
M 8 8 9 9 9 9 10 10 10 10 11 11 1M 11 12 12 12 13 13 13 13 14 14 14 14 15 15 15 15
N 20 [ 20 [ 22 | 22 [ 22| 2224 | 24| 24 [ 24 | 26 | 26 | 26 | 26 28 | 28 | 28 | 30 [ 30 |30 [30 |32 [32 |32 [32 |34 [34 |34 ] 34
KG | 39.6|40.4|41.2| 42 |42.8|43.6|44.4| 45.2] 46 |46.8|47.6|48.4|49.2] 50 516|62.4|53.2| 54 |54.8|556|564|67.2| 58 | 58.8|59.6|60.4|61.2| 62 |62.8

[md Y]
(i) =#{mm)
L+3.5
250 REAEET 175
2-218x15 H7
[C— - M M A(5:1)
| | 4 3.5
2 Rm
— .
- @] 4| 1.8
B _o ﬁ 1 1556
it = —T + - +
© 124 4-M8x20
14 154
13.6 _ 136
;750 4-M5x10 I
T [ P — | 0
~ i ~
=) | | (=] ©lo
=] A T =)
£ - E T i g 58
© - i) e
I i )
I SEED ‘LJ
) < ;== )
- 140
170
+ - S
SR
< 4 I
N-M8x12
156 M*200 A 120
L 526 |576 |626 |676 726 | 776 [826 |876 |926 | 976 [1026 [1076 [1126 [1176 [1226 [1276 |1326 [1376 [1426 1476 [1526 [1576 1626 [1676 [1726 [1776 |1826 1876 [1926 [1976
A 50 [100 [150 |200 | 50 [100 |150 [200 | 50 [ 100 [150 |200 | 50 |[100 [150 [200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 [ 200 | 50 [ 100 [150 |200 | 50 |100
M 1 1 1 1 2 | 2 2 | 2 31313 [3|4]4 4| 4|5 5 | 5 5| 6| 6| 6 6| 717 7 17 8 | 8
N 6 | 6 | 6 6 | 8 |8 s | 8 |10 )10 |10 [ 101212121214 1414 14 [16 [16]16]| 16|16 |18 |18 [ 18 [20 [ 20
KG 15 |16.8 |17.6 [18.4 [19.1 |19.9 [20.7 |21.5 |22.2 | 23 |283.8 |24.6 |25.3 |26.1 [26.9 |27.7 [28.4 |29.2 | 30 |30.8 |31.6 [32.4 |33.2 | 34 |34.8 |35.6|36.4|37.2 | 38 |38.8
L 2026 p076 126 176 p226 P276 2326 D376 426 P476 (2526 P576 P626 2676 P726 R776 p826 P876 926 976 B026 [3076 [3126 B176 [3226 [3276 [3326 B376 |3426 (3476
A 150 |200 |50 [100 [150 [200 [50 [100 [i150 Jo00 |50 [100 [150 [200 [ 50 [100 [150 [200 [ 60 [100 [150 [200 [50 o0 [150 [200 |50 |100 [150 |200
M 8 8 | 9 9 9 9 [10 [10 [10 |10 [ 11 [ 11 |11 [0 [ 12 12 [12 |12 [13 [13 |13 [13 [14 [14 [1a [14 |15 [158 |16 [ 15
N 20 [ 20 [22 [ 22 [ 22 [ 22 |24 [ 24 |24 [24 [26 |26 |26 |26 [ 28 [28 |28 |28 [30 [30 [30 [30 [32 [32 [32 [32 [34 [34 |34 |34
KG 39.6 [40.4 [41.2 [ 42 [42.8 [43.6 [44.4 [45.2]46 [46.8 [47.6 [48.4 [49.2 [ 50 [50.8 |51.6 |52.4 [53.2 | 64 |54.8 [55.6 [56.4 [57.2 | 58 [68.8 [59.6 [60.4 [61.2 [ 62 [62.8
slEpoqZd
(slctz) £H)(mm)
L
250 FRAERT 175
[Te)
0, 2-218x15 H7
*: i i
R4
o
~
;3
? ??; i + - +
124 4-M8x20
140 154
13.6550 4-M5x10 136
1
e T 1 [ 1
~ ' N
= A‘ ‘L s | G w2
u d I T ©
f - ) —
[fe]
Sk I |
| X ;
140
170
+ + +
o| ©
<~
~Hj
o + 'Y
N-M8x12
156 M*200 A 120
L 526 | 576 | 626 | 676 | 726 | 776 | 826 | 876 | 926 | 976(1026[1076|11261176|1226|1276| 1326|1376(1426(1476|15261576 | 1626|1676|1726|1776(1826|1876|1926/1976
A 50 | 100 | 150 | 200 | 50 | 100 [ 150 [ 200 | 50 | 100|150 | 200 | 50 | 100 | 150 | 200 | 50 | 100| 150| 200| 50| 100 | 150| 200| 50 | 100 | 150 | 200 | 50 | 100
M 1 1 1 1 2| 2 2| 2 3| 3| 3 3| 4| 4 4] 4| 5 5| 5 5| 6| 6| 6 6| 71 7 71 7 8| 8
N 6| 6| 6 6 8 | 8 g | 8 | 101010 [10] 12|12 12 12| 14| 14|14 |14 [16 | 16| 16| 16| 16|18 | 18 | 18 | 20 | 20
KG 15 [16.8]17.6]18.4[19.1[19.9/20.7|21.5]22.2| 23 |23.8]24.6(25.3|26.1|26.9|27.7|28.4]29.2| 30 |30.8(31.6[32.4|33.2| 34 |34.8]35.6/36.4|37.2| 38 [38.8
L 2026 2076|2126 [2176 [2226 |2276 2326 [2376 |2426 [2476 | 2526|2576 [2626 |2676 |2726 |2776 [2826 [2876 [2926 |2976 |3026 [3076 |3126 3176 |3226|3276 3326|3376 | 3426|3476
A 150 | 200 | 50 [100 [150 [200 [ 50 [100 [150 [200 | 50 [100 [150 [200 | 50 [100 150 [200 | 50 [100 [150 [200 | 50 [100 [150 [200 | 50 [100 |150 | 200
M 8 8| 9 9 9 9 (10 [10of1o 1o [t [ il 2f12 12121313 [13 |13 [14 [14 [1a [14 [15 [15 [ 156 | 15
N 20| 20| 22 | 22 22 2224 | 24|24 |24 | 26 | 26 | 26 [ 26 | 28 | 28 | 28 | 28 [ 30 [ 30 [30 [30 [32 |32 [ 32 |32 [34 [34 [34 [ 34
KG 39.6]40.4]41.2] 42 [42.8]43.6[44.4]452] 46 [46.8]47.6]48.4]49.2] 50 |50.8]51.6|52.4[53.2] 64 [54.855.6]56.4]57.2] 58 |58.8[59.6]60.4]61.2] 62 [62.8




JHC/JFC—XY Al2l=
JHB/JFB-XY Al2|=

[l EXA|AH
Multi Axis Type

HZE AlZI=
f
fi

AT /AT

122




A Qs 2t=0| F|H&E(mm/s) 2t=0| QSAEZI(mm) Y AEET
xA | u At bR &5 . . . - _ _
a S5 X= Y= = X= Y= = 50 150 250 350 450 550 650 750 850 950 1050
JHC-A1-XY21 500 500 - 50-800 | 50-300 - —— ——
=
JHC-A1-XY43 2= 800 800 - 50-1050 | 50~550 - S [ E—
JHC-A1-XY54 1000 800 - 50-1250 | 50-650 - 5 A A B
Qu.l‘
Ho-A1xves | nig 1250 | 1250 - | so-tss0 | so-7s0 | - S S B ES——
o
JHC_A1_Xv4a2| () 800 800 500 | 50-1050 | s0-550 | 50-300 | NN S S
QlH} = Ag2
= = TT -
17 JHC-A1-XY543 3= 800 800 500 | 50-1250 | 50-650 | 50~350 | NN S
JHC-A1-XY654 1000 1000 500 | s0-1550 | 50-750 | 50-550 | NN
JHC-G1-XY54 N 1000 800 - 50-1250 | 250-850 - e B R —
=
=
JHC-G1-XY65 _ 1250 1000 - 50-1550 | 250-1050 - Y Y R B
UEZ|Z
JHC-G1-XY543 G = 1000 800 500 50~1250 250~850 50~350
37<
=
JHC-G1-XY654 1250 1000 500 50-1550 | 250-1050 |  50~350 | NN S

== =0

124




2kz0| A|tHAE(mm/s) 24=0| QEAEZT(mm) YR AEET

i I R - : - . E .
¥ S X= Y= = X Y& = 50 150 250 350 450 550 650 750 850 950 1050

JHB-A1-XY54 2000 1000 - 50~3050 100~550 -

— =
JHB-A1-XY65 o o= 2000 1000 - 50~3050 | 100-650 -

JHB-A1-XY543 (A) B 2000 1000 500 50~3050 | 100~550 50-~350

JHB-A1-XY654 2000 1000 500 50~3050 50~650 50~350

JHB-G1-XY65 | sii=a|sy £ 2000 1000 _ 50~3050 | 100~750 -

JHB_G1-XY654 (©) 3= 2000 1000 500 50~3050 | 100-~750 50~350

I

JHB-F1-XY54 = 2000 - 500 50~3050 - 50~350

JHB-F1-XY63 i 3= 2000 - - 50~3050 - 50~350

|

== =0

126




g3z ojMel |ENIZ

ZIMMjustr'ia

Screw Jack Systems

ATE W A|AE
(RAE2(0})

- &2 Uy / Foltt 85 / 2o EH

A
o
- B3R EXt / HAS [ ZWESID MZE C|Xfl

- ZAY DH(25kN)F

=
— 3713t A|IARS Pfet e

N 2E(1,000kN)7HX|
St 2tAIARE| =M

128

o|L{0] 2B &
2|L|0]- 2E{2| ZF

(A944)

- =2 WSEE / HUES Ajo|= / st {IX| H0f

ol Ui / 2L HIZ 8 / MEet FX[d|

— Clofet EAl HIAl Ll TR ES




EEEEENREERIELE

130

Hied

The Precision Company

ASCA 7d =2d 237 &
SERAC AR AZIE e

- 52 U7 / HOlt 5 / 2imo| &
AQ/

- Bl S5/ HAS / HUESD MRE CIxjol

— ZAY D2 5KN)EE] RO 22(1,000kN)7HX|
5 o

~ £7l5t AIARIS 93t Cierat oAl SM

Rolling Ring Drive &
Linear Drive Nut

(=)

%2') PRENIUM STEPHAN

Precision Drives

- ™Y QMR[Rt 247( (0.6 arcmin 0|21
- =2 I7N, 158 (95% 0|4), Energy Saving

- o 2 457 23, 120 MHIAS 44 S




	1~41페이지 인쇄최종
	j-robot 132-2
	j-robot 132-3

